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CHEMISTRY

BOOKS - MARVEL CHEMISTRY (HINGLISH)

STATES OF MATTER : GASES AND LIQUIDS

Multiple Choice Questions Standard Level

1. Kinetic energy of molecules is highest in

A. Gases

B. Solids

C. Liquids

D. Solutions

Answer: A



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NDuptiMIxgsD

| ° Watch Video Solution

2. Which is distilled first ?

A. Liquid Hs

B. Liquid CO2

C. Liquid O2

D. Liquid Na

Answer: A

° Watch Video Solution

3. At ordinary temperature and pressure, chlorine is because a gas,

bromine is a liquid and iodine is a solid because

A. the specific heat is in the order Iz > Bry > Cly


https://dl.doubtnut.com/l/_NDuptiMIxgsD
https://dl.doubtnut.com/l/_2AAKISU30cs0
https://dl.doubtnut.com/l/_6olciYdkahWv

B. intermolecular forces among molecules of chlorine are weakest

and those of iodine the strongest

C.the order of density ly > Bry > Cl,

D. the order of stability sily > Bry > Cl,

Answer: B

° Watch Video Solution

4. Which one of the following is the correct order of interactions ?

A.Covalent < hydrogen bonding < van der Waals < dipole-

dipole

B.van der Waals < hydrogen bonding < dipole-dipole <

covalent

C.van der Waals < dipole -dipole < hydrogen bonding <

covalent


https://dl.doubtnut.com/l/_6olciYdkahWv
https://dl.doubtnut.com/l/_Z690yzekx7T0

D. Dipole-dipole < van der Waals < hydrogen bonding <

covalent

Answer: B

o Watch Video Solution

5. In which of the following set of molecules is the order of boiling

point incorrect?

A Xe > Ar > He

B.HF > HCI > HBr

C.Hy > HQS@ > HQS

D. CgHg > CzHﬁ > CH4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Z690yzekx7T0
https://dl.doubtnut.com/l/_0Gusrn01q7Kk

6. What is the dominant intermolecular forces or bond that must be

overcome in converting liquid CH3OH to gas ?

A. Dipole -dipole interaction

B. Covalent bonds

C. London dispersion forces

D. hydrogen bonding

Answer: D

o Watch Video Solution

7.Which of the following has the lowest boiling point ?

A. Liquid Hy

B. Liquid CO,

C. Liquid Oy


https://dl.doubtnut.com/l/_4LCVfo9xNXTG
https://dl.doubtnut.com/l/_inwf9Ur4LuI2

D. Liquid N,

Answer: A

o Watch Video Solution

8. At ordinary temperature and pressure, chlorine is because a gas,

bromine is a liquid and iodine is a solid because

A. the specific heat is in the order Iy > Bry > Cl,

B. intermolecular forces among molecules of chlorine are weakest

and those of iodine the strongest

C.the order of density I, > Bry > Cl,

D. the order of stability sily > Bry > Cl,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_inwf9Ur4LuI2
https://dl.doubtnut.com/l/_p7vrOq8qXCOl

9. Which factor is most responsible for the increase in boiling points of

noble gases from He to Xe?

A. Decrease in |.E.

B. Monoatomic noture

C. Decrease in polarisability

D. Increase in polarisability

Answer: D

o Watch Video Solution

10. Type of forces between molecules of CsHgare

A. Dipole -dipole interaction

B. Dispersion forces

C. H-bonding


https://dl.doubtnut.com/l/_mQRZqZmfsO5m
https://dl.doubtnut.com/l/_1FMvQz4NJGxn

D. Dipole induced -dipole forces

Answer: B

o Watch Video Solution

11. Which of the following exhibits the weakest intermolecular forces?

A NH;

B. HCI

C. He

D. H,0O

Answer: C

o Watch Video Solution

12.In group 16 which hydride has higest boiling point ?


https://dl.doubtnut.com/l/_1FMvQz4NJGxn
https://dl.doubtnut.com/l/_10rKoxuO9d6n
https://dl.doubtnut.com/l/_25RqAKXz0mPb

A H,0

B.H,S

C. ste

D. H2Te

Answer: A

o Watch Video Solution

Gaseous State

1. Dimensions of pressure are same as that of

A.Energy
B. Force
C. Energy per unit volume

D. Force per unit volume


https://dl.doubtnut.com/l/_25RqAKXz0mPb
https://dl.doubtnut.com/l/_ZlxUp3zyBRW0

Answer: C

° Watch Video Solution

2. Poise stands for

A.1dyne cm sec ™2

B.1dyne sec cm 2

C. 10" es.u.cm

D.10~7 erg sec

Answer: B

° Watch Video Solution

3. Which of the following statements is not correct about the three

states of matter, i.e, solid, liquids and gas?


https://dl.doubtnut.com/l/_ZlxUp3zyBRW0
https://dl.doubtnut.com/l/_L7jNLQ5jrJlY
https://dl.doubtnut.com/l/_k1GuQKNw6H7W

A. Molecules of a solid possess least kinetic energy whereas those

of a gases possess highest kinetic energy

B. The desity of solid is highest whereas that of gases is lowest

C. Gases like liquids possess definite volumes

D. Molecules of a solid possess vibratory motion

Answer: C

o Watch Video Solution

4. Which of the following is true about gaseous state?

A. Thermal energy = Molecular attraction

B. Thermal energy > > Molecular attraction

C.Thermal energy < < Molecular attraction

D. Molecular forces > > Those in liquids


https://dl.doubtnut.com/l/_k1GuQKNw6H7W
https://dl.doubtnut.com/l/_Qmt4VHeBfrM3

Answer: B

o Watch Video Solution

5.1°Crise in temperature is equal to a rise of

A 1°F

B.9/5°F

C.5/9°F

D.33°F

Answer: B

o Watch Video Solution

6. At what temperature will both the Celsius and Fahrenheit scales read

the same value?


https://dl.doubtnut.com/l/_Qmt4VHeBfrM3
https://dl.doubtnut.com/l/_V4Y5l3MNuxGr
https://dl.doubtnut.com/l/_2lPMoWClyTU2

A.0°C

B.32°F

C.—40°C

D.40°C

Answer: C

° Watch Video Solution

Boyle S Law Charles Law Gay Lussacs Law And Avogadros Law

1. When gases are heated from 20° to 40° C at constant pressure their

volumes

A. increase by the same megnitude

B. become double

C.increase in the ratio of their molecular masses


https://dl.doubtnut.com/l/_2lPMoWClyTU2
https://dl.doubtnut.com/l/_T7GAiu2qqCG0

D. increase but to different extent

Answer: D

o Watch Video Solution

2. Aqueous tension of water depends on

A. the amount of the water taken

B. the temperature only

C. both on the amount of water and temperature

D. neither the temperature nor the amount of water but on certain

other factors

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_T7GAiu2qqCG0
https://dl.doubtnut.com/l/_X5XSbqditudX
https://dl.doubtnut.com/l/_3208pnO8TfhZ

3. The ratio of the partical pressure of a gaseosy component to the

total vapour pressure of the mixtuer is equal to :

A. mass of the component

B. mole fraction of the component

C. mass % of the component

D. molecular mass of the component

Answer: B

° Watch Video Solution

4. Dalton's law of partial pressures will not hold good for which of the

following ?

A.Hy + Oy + CO,

B. N, + HBr + Cl,

C. Cl2 + NH3 + HB’I‘


https://dl.doubtnut.com/l/_3208pnO8TfhZ
https://dl.doubtnut.com/l/_JMpjRwVfuBrG

D.NH; + Oy + Cl,

Answer: C

o Watch Video Solution

5. The rate of diffusion of a gas is proportional to

@

o

O
&|§ m = E‘@

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JMpjRwVfuBrG
https://dl.doubtnut.com/l/_nCP7zGy6tC9I

6. Which of the following pairs will effuse at the same rate through a

porous plug .

A.CO,NO,

B. NO,, CO,

C.NH,, PH;

D.NO,C,Hy

Answer: D

° Watch Video Solution

7.Which of the following gas will have highest rate of diffusion ?

A NH;

B. N,

C.CO,


https://dl.doubtnut.com/l/_VvqjvLAOE8Nz
https://dl.doubtnut.com/l/_KBCE34HPhkGn

D. O,

Answer: A

o Watch Video Solution

8. Which of the following statement is false ?

A. The product of pressure and volume of fixed amount of a gas is
independent of temperature
B. Molecules of different gases have the same KE. at a given

temperature

C.The gas equation is not valid at high pressure and low

temperature

D. The gas constant per molecule is known as Boltzmann constant

Answer: A



https://dl.doubtnut.com/l/_KBCE34HPhkGn
https://dl.doubtnut.com/l/_4Riz9OV87gzS

[ W Watch Video Solution

9. Air at sea level is dense. This is a practical application of

A. Boyle's law

B. Charle's law

C. Avogadro's law

D. Dalton's law

Answer: A

° Watch Video Solution

10. The slope of the plot between pV" and p at constant temperature is

A. zero

B.1


https://dl.doubtnut.com/l/_4Riz9OV87gzS
https://dl.doubtnut.com/l/_AkRLilGPkg1g
https://dl.doubtnut.com/l/_ZnRs6UZ7Watb

c.1/2

D.1/+/2

Answer: A

o Watch Video Solution

11. Hydrogen diffuses six times faster than gas A. The molar mass of

gas A is

A.72

B.6

C. 24

D. 36

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnRs6UZ7Watb
https://dl.doubtnut.com/l/_W1mJsf5rE1OG

12. The ratio of the rate of diffusion of helium and methane under

indentical conditions of pressure and temperature will be

A4
B.2
C.1

D.0.5

Answer: B

° Watch Video Solution

13. Steam distillation is based on

A. Boyle's law
B. Charle's law

C. Dalton's law of partial pressures


https://dl.doubtnut.com/l/_Eg6qMIgcwrA7
https://dl.doubtnut.com/l/_KEmzLhVo2XK2

D. Avogadro's law

Answer: C

o Watch Video Solution

14. Graph between p and V at constant temperature is

A. straight
B. curved increasing
C. straight line with slope

D. parabolic curve decreasing

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KEmzLhVo2XK2
https://dl.doubtnut.com/l/_T87PWJPUCaKO

15. In order to increase the volume of a gas by 10 % , the pressure of

the gas should be

A. decrease by 10%

B. decreased by 1%

C.increased by 10%

D. decreased by 1%

Answer: A

o Watch Video Solution

16. Which one of the following plot will be a hyperbola at constant

temperature ?

A.Pvs 1/V

B.PVvs P


https://dl.doubtnut.com/l/_ouDSKwtAzn0w
https://dl.doubtnut.com/l/_Pe4GLEsevNdL

C.VvsP

D.V vs PV

Answer: C

o Watch Video Solution

17. The mountaineers carry oxygen gas cylinders with them while

climbing high mountains . Give reasons.

A. Density of air is high at the altitudes

B. Density of air is low at the altitudes

C. Air is less pure at the altitudes

D. Air contains no oxygen at the altitudes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Pe4GLEsevNdL
https://dl.doubtnut.com/l/_eoLt2BAs69ok

18. If V} is the volume of a given mass of gas at 273K at a constant

pressure then according to Charles' law, the volume at 10° C will be

A. 10V,

273 (’UO + 10)

Answer: D

o Watch Video Solution

19. The correct representation of Charle's law is given in


https://dl.doubtnut.com/l/_KRFsTObRjxq9
https://dl.doubtnut.com/l/_5RMclARaqf9h

YT (K>

Vol

0 7K —

Yol

O TK) —

D. e

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5RMclARaqf9h

20. At of the following does not showexpliently the relationship

between Boyle's law and Charles'law?

P Ty
A — = —
Py Ty
B. PV=K
P
ch_h
P, Va
Vs P, T
D— X — = —
%1 ) Ty
Answer: D

o Watch Video Solution

21.If the absolute temperature of a gas is doubled and the pressure is

reuced to one-half, the volume of the gas will

A. Remain unchanged

B. Be doubled


https://dl.doubtnut.com/l/_idTkDb9piEVo
https://dl.doubtnut.com/l/_i25zUFo2rgj7

C. Increase four-fold

D. Be reduced to 1 /4%

Answer: C

o Watch Video Solution

22. The molar volume of CO, is maximum at

A.STP

B.0°C and 2.0 atm

C.127°Cand 1 atm

D.273° Cand 2 atm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_i25zUFo2rgj7
https://dl.doubtnut.com/l/_IU3wLk7SuZii
https://dl.doubtnut.com/l/_1BM59QY3H9Td

23. There is 10 litre of a gas at STP Which of the following new

conditions keep the volume constant?

A. 273K and 2atm. Pressure

B.273° Cand 2 atm . Pressure

C.546° C and 0.5 atm. Pressure

D.0° C and 0.0 atm. Pressure

Answer: B

° Watch Video Solution

24. Five grams each of the following gases at 87°C and 750 mm

pressure are taken. Which of them will have the least volume ?

A. HF

B. HCI

C. HBr


https://dl.doubtnut.com/l/_1BM59QY3H9Td
https://dl.doubtnut.com/l/_QESxMdQjLCH1

D. HI

Answer: D

o Watch Video Solution

25. According to Charles' law, at constant pressure, 100 ml of a given

1
mass of a gas with 10°C rise in temperature will become ( 73 =

0.00366)

A.100.0366
B. 99.9634
C.103.66

D. 100.366

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QESxMdQjLCH1
https://dl.doubtnut.com/l/_FIUqM7OmDk3a
https://dl.doubtnut.com/l/_ol7ewVcyxmdA

26. A sealed tube which can withstand a pressure of 3 atmosphere is

filled with air at 27°C and 760 mm pressure. Find the temperature

above which it will burst.

A.81°C

B.627°C

C.900°C

D.1173° C

Answer: B

° Watch Video Solution

27. 400cm® of oxygen at 27°C were cooled to —3° C without change

in pressure. The contraction in volume will be as per Charle's law?

A. 30cm?®


https://dl.doubtnut.com/l/_ol7ewVcyxmdA
https://dl.doubtnut.com/l/_WIx42r2c3vyN

B. 40cm®

C. 44.4cm?

D. 360cm?®

Answer: B

o Watch Video Solution

28. An electron tube was sealed off during manufacture at a pressure
of 1.2 x 10~ 7 mm of mercury at 27°C. Its volume is 100 c¢m?. The
number of molecules that remain in the tube is

A.6.02 x 10"

B.8.2 x 6.02 x 10%

C.24.6 x 10°

D.8.2 x 30 x 6.02 x 10?3

Answer: A


https://dl.doubtnut.com/l/_WIx42r2c3vyN
https://dl.doubtnut.com/l/_Mt07BwlHBTlM

° Watch Video Solution

29.16 g of oxygen and 3g of hydrogen are mixed and kept at 760mm of
Hg pressure and 0° C . The total volume occupied by the mixture will

be nearly

A.224 L

B.336L

C.448L

D. 44800 mL

Answer: D

° Watch Video Solution

30.2.8 g of N, 0.40 g of Hy and 6.4 g of O, are placed in a container of

1.0 L capacity at 27° C. The total pressure in the container is


https://dl.doubtnut.com/l/_Mt07BwlHBTlM
https://dl.doubtnut.com/l/_FddVl73MVeBH
https://dl.doubtnut.com/l/_s2Hfn7SdRGEp

A. 615 atm

B.12.3 atm

C.1123 atm

D. 24.6 atm

Answer: B

° Watch Video Solution

31. One litre of a gas weights 2 g at 300 K and 1 atm pressure. If the

pressure is made 0.75 atm at which of the following temperature will

one litre of the same gas weight one gram ?

A.450 K

B. 600 K

C.800K

D.900 K


https://dl.doubtnut.com/l/_s2Hfn7SdRGEp
https://dl.doubtnut.com/l/_DMgdiLwxZWkb

Answer: A

o Watch Video Solution

32. The closed containers of the same capacity and at the same
temperature are filled with 44 g of H, in one and 44 g of CO, in the
other . If the pressure of carbon dioxide in the second container is 1
atm , then pressure of hydrogen in the first container would be :
A.1atm
B.10 atm

C.22 atm

D. 44 atm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DMgdiLwxZWkb
https://dl.doubtnut.com/l/_2LPLmNkqAp6y
https://dl.doubtnut.com/l/_Q2OfSUFM9C3R

33.V vs T curves at constant pressure P, and P, for an ideal gas are

shown below

<

Which is correct ?

AP >P

B.PL < P,y

D. All of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2OfSUFM9C3R

34. Containers AB and C of equal volume contain oxygen neon and

methane respectively at the same temperature and pressure . The

correct increasing order of their masses is [ C=12, Ne =20 H=1]

AA<B<C

BBB<(C<A

CC<A<B

DC<B< A

Answer: D

° View Text Solution

35. Pressure remaining the same, the volume of a given mass of an
ideal gas increases for every degree centigrade rise in temperature by

define fraction of its volume at


https://dl.doubtnut.com/l/_Q2OfSUFM9C3R
https://dl.doubtnut.com/l/_fdQHWeqziohX
https://dl.doubtnut.com/l/_XEM72wGIIVqS

A.0° C

B. Absolute zero

C. Its critical temperature

D. Its Boyle's temperature

Answer: A

° Watch Video Solution

36. At constant temperature, in a given mass of an ideal gas -

A. The ratio of pressure and volume always remains constant

B. Volume always remains constant

C. pressure always remains constant

D. The product of pressure and volume always rmains constant

Answer: D



https://dl.doubtnut.com/l/_XEM72wGIIVqS
https://dl.doubtnut.com/l/_fgOC8e4V9rjs

[ W Watch Video Solution ]

37. 500 mL of nitrogen at 27°C is cooled to —5°C at the same

pressure. The new volume becomes

A.326.32 mL

B.446.66 mL

C. 54632 mL

D.771.56 mL

Answer: B

° Watch Video Solution

38. 600 cc of a gas at a pressure of 750 mm is compressed to 500 cc.

Taking the temperature to remain constant, the increase in pressure is

A. 150 mm


https://dl.doubtnut.com/l/_fgOC8e4V9rjs
https://dl.doubtnut.com/l/_riEtCutJ2O3P
https://dl.doubtnut.com/l/_R4nJeUfkxOrL

B. 250 mm

C.350 mm

D.450 mm

Answer: A

o Watch Video Solution

39. At 25° C and 730 mm pressure, 380 mL of dry oxygen was collected.
If the temperature is constant, what volume will be oxygen occupy at
760mm pressure ?

A.365 mL

B. 465 mL

C.565 mL

D. 665 mL

Answer: A


https://dl.doubtnut.com/l/_R4nJeUfkxOrL
https://dl.doubtnut.com/l/_DmV2CAKrqO3l

° Watch Video Solution

40. Which of the following volume-temperature (V — I) plots

represents the behaviour of 1mole of an ideal gas at the atmospheric

pressure?
3

V() (3681,
/ 373 K)

(2241,

273 K)
TK

A

Vo)

=240
IT3N)

TK)
B.
V(L)
(2241,
273K)
C.

D. e


https://dl.doubtnut.com/l/_DmV2CAKrqO3l
https://dl.doubtnut.com/l/_dZvqy1rQpjmx

Answer: C

° Watch Video Solution

41. At 27°C, a ges is compressed to half of its volume . To what
temperature it must now be heated so that gas occupies just its
original volume ?

A.54°C

B.327°C

C.600° C

D.427° C

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dZvqy1rQpjmx
https://dl.doubtnut.com/l/_LItSChIJfR1B

42.The temperature of a certain mass of a gas was increased from 29°

Cto 30° C at constant pressure the volume of the gas

A. will remain the same

B. will decrease by 1/273 of its volume at 273 K

C. will increase by 1/273 of its volume at 29° C

D. will increase by 1/273 of its volume at 30° C

Answer: C

o Watch Video Solution

43.1f P, V, and T represent pressure, volume and temperature of the

gas, the correct representation of Boyle's law is

1
A. Voof (at constant P)

B. PV=RT


https://dl.doubtnut.com/l/_yMfzGtJaoFnm
https://dl.doubtnut.com/l/_9DJK5Z6owm5h

1
C. Voo? (at constant T)

D. PV=nRT

Answer: C

o Watch Video Solution

44. Air at sea level is dense. This is a practical application of

A. Boyle's law

B. Charle's law

C. Avogadro's law

D. Dalton's law

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9DJK5Z6owm5h
https://dl.doubtnut.com/l/_GwCzXQdHoAKP
https://dl.doubtnut.com/l/_uFMSwYDOvUNI

45, If 20cm® gas at latm is expanded to 50cm?® at constant T, then

what is the final pressure

1

1
BlX2—0X50
1
C1x20x%x —

50

D. None of these

Answer: A

o Watch Video Solution

46. Which of the following graph represents Boyle's law ?

I)

v


https://dl.doubtnut.com/l/_uFMSwYDOvUNI
https://dl.doubtnut.com/l/_LKlTto9vYuum

rvp—m—m—m—m—

rv

I’V\

Answer: B

o Watch Video Solution

47. At constant pressure , the volume of fixed mass of an ideal gas is

directly proportional to


https://dl.doubtnut.com/l/_LKlTto9vYuum
https://dl.doubtnut.com/l/_OxhzQvGohr0G

A. Absolute temperature

B. Degree centigrade

C. Degree Fahrenheit

D. None of these

Answer: A

° Watch Video Solution

48. Which of the following expression at constant pressure represents
Charles's law?
A Voo—
1
B.Voo—
T
C.VooT

D. Vood


https://dl.doubtnut.com/l/_OxhzQvGohr0G
https://dl.doubtnut.com/l/_9vmCUuRDwTie

Answer: C

o Watch Video Solution

49. Use of hot air ballons in sports and meteorological observations in

an application of

A. Boyle's law

B. Newtonic law

C. Kelvin's law

D. Charle's law

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9vmCUuRDwTie
https://dl.doubtnut.com/l/_3dT2pJdUWhTt

50. A certain sample of gas has a volume of 0.2 litre measured at latm
pressure and 0° C. At the same pressure but at 273° C, its volume will
be

A.04 litres

B. 0.8 litres

C. 27.8 litres

D. 55.6 litres

Answer: A

° Watch Video Solution

51. One gram mole of a gas at NTP occupies 22.4 L. This fact is derived

from

A. Dalton's theory


https://dl.doubtnut.com/l/_Yqad9YT2sAze
https://dl.doubtnut.com/l/_EXS27fD05bmM

B. Avogardo's law

C. Berzelius hypothesis

D. Law of gaseous volume

Answer: B

o Watch Video Solution

52. The density of a gas at 27°C and latm is d. Pressure remaining

constant, at which of the following temperture will its density become

0.75d?

A.20° C

B.30°C

C.400K

D.300K

Answer: C


https://dl.doubtnut.com/l/_EXS27fD05bmM
https://dl.doubtnut.com/l/_AcvHnhwwomi4

° Watch Video Solution

53. Equal volumes of gases at the same temperature and pressure

contain equal number of particles. This statement is a direct

consequence of

A. Avogadro's law

B. Charle's law

C. Ideal gas equation

D. Law of partial pressure

Answer: A

° Watch Video Solution

54.4.4 g of a gas at STP occupies a volume of 2.24 L. The gas can be:


https://dl.doubtnut.com/l/_AcvHnhwwomi4
https://dl.doubtnut.com/l/_1DHE2goQLh6G
https://dl.doubtnut.com/l/_cMCHwn8XdMs5

A.O,

B.CO

C.NO,

D.CO,

Answer: D

° Watch Video Solution

55. The density of O, is 16 at STP. At what temperature (in .° C) its

density will be 14 ? Consider that the pressure remais constant.

A.50° C

B.39°C

C.57° C

D.43°C


https://dl.doubtnut.com/l/_cMCHwn8XdMs5
https://dl.doubtnut.com/l/_Gx6qAYzOjrGW

Answer: B

° Watch Video Solution

56. 500mL of NH; contains 6.02 x 10?3 molecules at STP. How many

molecules are present in 100 mL of CO, at STP?

A 6 x 102
B.1.5 x 1023
C.1.2 x 10%

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Gx6qAYzOjrGW
https://dl.doubtnut.com/l/_9IevR80BOTme

57. If molecular mass of O, and SO, are 32 and 64 respectively. If one
litre of Oy at 15°C and 759mm pressure contains N molecules, the
number of molecuels in two litre of SOy under the same conditions of
temperature and pressure will be:

A.N/2

B. Newtonic law

C.2N

D.4N

Answer: C

° Watch Video Solution

58. If pressure becomes double at the same absolute temperature on

2LCQO,, then the volume of CO, becomes

A2L


https://dl.doubtnut.com/l/_2TahmKritrqd
https://dl.doubtnut.com/l/_T4PatCkAe1MY

B.4L

C.25L

D.1L

Answer: D

o Watch Video Solution

Ideal Behaviour And Gas Equation And Deviation From Ideal Behaviour

1. The gas constant R is a constant

A. only for real gases
B. only for ideal gases
C. both for real and ideal gases

D. nether for real nor for ideal gases


https://dl.doubtnut.com/l/_T4PatCkAe1MY
https://dl.doubtnut.com/l/_yUxyJdjod0E6

Answer: C

° Watch Video Solution

2. Select one correct statement. In the gas equation, PV = nRT

A. n is the number of molecules of a gas

B.V denotes volume of one mole of the gas

C.n moles of the gas have a volume of the gas

D. P is the pressure of the gas when only one mole of gas is present

Answer: C

° Watch Video Solution

3. Real gases show deviation from ideal behaviour at low temperature

and high pressure.


https://dl.doubtnut.com/l/_yUxyJdjod0E6
https://dl.doubtnut.com/l/_ox1EcdDDHou7
https://dl.doubtnut.com/l/_M0DHst4AgEbF

A. temperature is low and pressure is high

B. temperature si high and Pressure is low

C. both temperature and pressure are low

D. both temperature and pressure are high

Answer: A

° Watch Video Solution

4. The units of the van der Waals constant a are

A. atm L’molL>

B.atm L~ ?moL 2

C.atm L?moL !

D.mol L1

Answer: A



https://dl.doubtnut.com/l/_M0DHst4AgEbF
https://dl.doubtnut.com/l/_04HxHm43Qd02

L Watch Video Solution J

5.The units of the van der Waal's constant 'b' are

A. atmoshere

B.joules

C.Lmol !

D.mol L~!

Answer: C

° Watch Video Solution

6. Inert gases such as heliume behave like ideal gases over a wide range
of temperature .However , they condense into the solid state at very

low temperatures. it indicates that at very low temperature there is a

A. negative deviation


https://dl.doubtnut.com/l/_04HxHm43Qd02
https://dl.doubtnut.com/l/_aAo9GLFRrb25
https://dl.doubtnut.com/l/_TDKlTfsVbUrW

B. positive deviation

C. positive and negative deviation

D. none

Answer: A

° Watch Video Solution

7. Any gas shows maximum deviation from ideal gas behaviour at

A.0° C and 1atmospheric pressure

B.100° C and 2 atmospheric pressure

C. —100° C and 5 atmospheric pressure

D.500° C and 5 atmospheric pressure

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TDKlTfsVbUrW
https://dl.doubtnut.com/l/_3R73Adq3qOFP

8. Van der Waal's constant 'a’ and 'b' are related with

respectively.

A. Attractive force and bond energy of molecules

B. Volume and repulsive forces of molecules

C. Shape and repulsive of molecules

D. Attractive forces and volume of the molecules

Answer: D

o Watch Video Solution

9.Van der Waal's equation of state is obeyed by real gases. For n moles

of a real gas the expression will be

p na Vv
A — = RT
<n+v2>(n—b> f

B. <p+ %)(V—b) = nRT



https://dl.doubtnut.com/l/_q3YnP1Ts10z2
https://dl.doubtnut.com/l/_kRTsjVs0pBMk

C. (p+ na)(nV—b) — nRT

V2

2
D. (p+ M)(V — nb) = nRT

Answer: D

o Watch Video Solution

10. In van der Waals' equation of state of the gas law the constnat 'b' is

a measure of .

A. intermolecular repulsions

B. intermolecular attraction

C. volume occupied by the molecules

D. intermolecular collisions per unit volume

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kRTsjVs0pBMk
https://dl.doubtnut.com/l/_txNGVcm5e6no

11. Molar volume of C'O5 is maximum at

A.NTP

B.0°C and 2.0 atm

C.127° Cand 1 atm

D.273°C and 2 atm

Answer: C

o Watch Video Solution

12. To raise the volume of a gas by four times the following methods

may be adopted. Which of the method is wrong ?

A.T is doubled and P is also raised by four times

B. Keeping P constant T is raised by four times

C. Temperture is double and pressure is halved


https://dl.doubtnut.com/l/_ARDSN2cTLN5a
https://dl.doubtnut.com/l/_HZ4f0kXF8kcR

D. Keeping temperature constant pressure is reduced to 1/4 of its

initial value

Answer: A

o Watch Video Solution

13. An L. P. G cylinder contains 15kg of butane gas at 27°C and 10
atm pressure It was leaking and its pressure fell down to 8 atm
pressure after one day Calculate the amount of leaked gas .

A 1kg

B.2 kg

C.3 kg

D. 4 kg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HZ4f0kXF8kcR
https://dl.doubtnut.com/l/_YfvKldY50sX0

14. Containers A and B have same gases. Pressure, volume and

temperature of A are all twice that of B, then the ratio of number of

molecules of A and B are

A 1:2

B.2:1

C.1:4

D.4:1

Answer: A

° Watch Video Solution

15. For a fixed mass of a gas at constant temperature which of the

following is correct?


https://dl.doubtnut.com/l/_YfvKldY50sX0
https://dl.doubtnut.com/l/_GXOdSMTRRXLN
https://dl.doubtnut.com/l/_BpcKgEJ5sqbR

A. Plot of Vvs Pis linear

B. Plot of V vs P is non =linear with intercept zero

C. Plot of PV vs P is linear with a zero slope

D. Plot of PV vs P is linear with positive slope

Answer: C

° Watch Video Solution

16. A pre weighed vessel was filled with oxygen at N.T.P. and weighted.It

was then evacuated, filled with SO, at the same temperature and

pressure, and again weighed. The weight of oxygen will be

A. The same as that of the SO,

B. Twice as that of the SO,

C. Half of that of the SO,

D. One-fourth of that of the SO,


https://dl.doubtnut.com/l/_BpcKgEJ5sqbR
https://dl.doubtnut.com/l/_mpSn2hE6emMX

Answer: C

o Watch Video Solution

17. The correct value of the gas contant R is close to

A. 0,082 L-atm K

B.0.082 L-atm K ~'mol !

C.0.082 Latm  'Kmol !

D. 0.082L'atm ~! K mol

Answer: B

° Watch Video Solution

18. Under what conditions will a pure sample of an ideal gas not only

exhibit a pressure of latm but also a concentration of 1mollitre ~*


https://dl.doubtnut.com/l/_mpSn2hE6emMX
https://dl.doubtnut.com/l/_UHwipE6vcmDT
https://dl.doubtnut.com/l/_uI2RowxMfqvj

[R = 0.082iltre atm mol 'K ~]

A. At STP
B.When V=224 L
C.When T=12 K

D. Impossible under any conditions

Answer: C

° Watch Video Solution

19. What is the nature of graph of PV versus P for a given mass of a gas

at constant temperature?

A. Parallel to X-axis

B. Parallel to Y-axis

C. Linear with positive slope

D. Linear with negative slope


https://dl.doubtnut.com/l/_uI2RowxMfqvj
https://dl.doubtnut.com/l/_W56iSbPDScEk

Answer: A

° Watch Video Solution

20. Ideal gas equation strictly obeys gas laws under all conditions of

A. A few selected experimental conditions

B. All experimental conditions

C. Low pressure alone

D. High temperature alone

Answer: B

° Watch Video Solution

21. In the equation of state of an ideal gas PV = nRT, the value of

universal gas constant would depend only on :


https://dl.doubtnut.com/l/_W56iSbPDScEk
https://dl.doubtnut.com/l/_HqdXENQa6Pii
https://dl.doubtnut.com/l/_vzP2hshaoGOR

A. The nature of the gas

B. The pressure of the gas

C.The units of the measurement

D. None of these

Answer: C

° Watch Video Solution

22. Which one of the following is not the value of R ?

A.1.987 cal K 'mol !
B.83 cal K 'mol !
C.0.0821lit K 'mol !

D.1.987 joules K ~'mol !

Answer: A



https://dl.doubtnut.com/l/_vzP2hshaoGOR
https://dl.doubtnut.com/l/_br3E8vFPskNM

[ W Watch Video Solution ]

23.S.1. unit of gas constant R is

A. 0.0821 litre atm K ~'mole !
B. 2 calories K~ 'mole ™!
C.8314 joule K ~'mole *

D. None of these

Answer: C

° Watch Video Solution

24. If two mole of an ideal gas at 546 K occupies a volume of 44.8litres,

the pressure must be :

A. 2 atm

B.3 atm


https://dl.doubtnut.com/l/_br3E8vFPskNM
https://dl.doubtnut.com/l/_qunlNcBZg4sa
https://dl.doubtnut.com/l/_sWR7BwZiaSWi

C.4 atm

D.1atm

Answer: A

o Watch Video Solution

25. Volume occupied by an ideal gas at one atmospheric pressure and

0°C is V ml. Its volume at 273 K will be

AV ml

B.v/2 ml

C.2v

D. 4V

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sWR7BwZiaSWi
https://dl.doubtnut.com/l/_uIWpb5XJMqgU

26. Volume of 0.5 mole of a gas at 1 atm. Pressure and 273 K is

A. 22 4 litres

B. 11.2 litres

C. 4438 litres

D. 5.6 litres

Answer: B

o Watch Video Solution

27. Pure hydrogen sulphide is stored in a tank of 100 litre capacity at
20° C and 2 atm pressure. The mass of the gas will be

A34g

B.340 g

C.2824¢g


https://dl.doubtnut.com/l/_OHw4nVTMzxNs
https://dl.doubtnut.com/l/_GaAiezB4rxfa

D.28.24 g

Answer: C

° Watch Video Solution

28. One litre of a gas weights 2 g at 300 K and 1 atm pressure. If the
pressure is made 0.75 atm at which of the following temperature will
one litre of the same gas weight one gram ?

A. 450K

B. 600 K

C.800K

D. 900 K

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GaAiezB4rxfa
https://dl.doubtnut.com/l/_FzaUjnO9uDHt
https://dl.doubtnut.com/l/_gCkOYyo4zLKY

29. A weather balloon filled with hydrogen at 1 atm and 27°C has
volume equal to 1200 litres. On ascending, it reaches a place where
temperture is —23°C and pressure is 0.5 atm. The volume of the
balloon is

A. 24000 litres

B. 20000 litres

C. 10000 litres

D. 12000 litres

Answer: B

o Watch Video Solution

30. At STP 1g CaC'O5 on decomposition gives CO,

A. 224 litre


https://dl.doubtnut.com/l/_gCkOYyo4zLKY
https://dl.doubtnut.com/l/_k8jlaxg169Qt

B. 2.24 litre

C.0.224 litre
D. 11.2 litre
Answer: C

o Watch Video Solution

31. Containers A and B have same gases. Pressure, volume and

temperature of A are all twice that of B, then the ratio of number of

molecules of A and B are

A1:2

B.2:1

C.1:4

D.4:1

Answer: B


https://dl.doubtnut.com/l/_k8jlaxg169Qt
https://dl.doubtnut.com/l/_MQOOE8toPmw8

° Watch Video Solution

32. A cylinder of 5 L capacity, filled with air at NTP is connected with
another evacuated cylinder of 30 L capacity. The resultant air pressure
in both the cylinders will be

A.10.8 cm of Hg

B.14.9 cm of Hg

C.21.8 cm of Hg

D. 38.8 cm of Hg

Answer: A

° Watch Video Solution

33. The pressure and temperature of 4dm? of carbon dioxide gas are

doubled. Then the volume of carbon dioxide gas would be


https://dl.doubtnut.com/l/_MQOOE8toPmw8
https://dl.doubtnut.com/l/_VRrrpCumVW77
https://dl.doubtnut.com/l/_xtEGXiBfd1iD

A 2 dm?

B.3 dm?

C.4 dm?

D. 8 dm?

Answer: C

° Watch Video Solution

34.For H, gas, the compressibility factor,Z =PV /n RT s -

A.Equal to 1

B. Equal to O

C. Always greater than 1

D. Initially less than 1 and then becomes greater than 1 at high

pressures


https://dl.doubtnut.com/l/_xtEGXiBfd1iD
https://dl.doubtnut.com/l/_WR5hkCyv0pzg

Answer: C

o Watch Video Solution

35. At lower temperatures all gases show

A. negative deviation

B. positive deviation

C. First positive and then negative deviation

D. First negative and then positive deviation

Answer: D

° Watch Video Solution

v
36. A gas is said to behave like an ideal gas when the relation pT=

constant. When do you expect a real gas to behave like an ideal gas ?


https://dl.doubtnut.com/l/_WR5hkCyv0pzg
https://dl.doubtnut.com/l/_xOe74AibpJ5r
https://dl.doubtnut.com/l/_zrbzhhyS954l

A. When the temperature is low

B. When both the temperature and pressure are low

C. When both the temperature and pressure are high

D. When the temperature si high and pressure is low

Answer: D

o Watch Video Solution

37. When is deviation more in the behaviour of a gas from the ideal gas

equation PV = nRT?

A. At high temperature and low pressure

B. At low temperature and high pressure

C. At high temperature and high pressure

D. At low temperature and low pressure


https://dl.doubtnut.com/l/_zrbzhhyS954l
https://dl.doubtnut.com/l/_nNMUUTR9XgnS

Answer: B

o Watch Video Solution

38. At which one of the following temperature pressure conditions, the

deviation of a gas from ideal behavior is expected to be minimum?

A.350 K and 3atm
B. 550 K atm 1 atm
C.250 K and 4 atm

D. 450 K and 2 atm

Answer: B

° Watch Video Solution

39. Any gas shows maximum deviation from ideal gas behaviour at


https://dl.doubtnut.com/l/_nNMUUTR9XgnS
https://dl.doubtnut.com/l/_5Pc23KhOs77W
https://dl.doubtnut.com/l/_8wZDOjCn2yJi

A.0°C and 1 atmospheric pressure

B.100° C and 2 atmospheric pressure

C. —100°C and 5 atmospheric pressure

D. 500° C and 1 atmospheric pressure

Answer: C

° Watch Video Solution

40. A gas deviated from ideal behaviour at a high pressure because its

molecules

A. Have kinetic energy

B. Are bound by covalent bonds

C. Attract one another

D. Show the Tyndall effect


https://dl.doubtnut.com/l/_8wZDOjCn2yJi
https://dl.doubtnut.com/l/_4asfjYE2G04q

Answer: C

° Watch Video Solution

Liquefaction Of Gases Critical Teperature Pressure And Volume

1. For H, gas, the compressibility factor,Z=PV /n RT is -

A.Equal to 1

B. Equal to O

C. Always greater than 1

D. Initially less than 1 and then becomes greater than 1 at high

pressures

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4asfjYE2G04q
https://dl.doubtnut.com/l/_KpOd3aPRtKog
https://dl.doubtnut.com/l/_k7OtejHl8YZe

2. When a compressed gas is allowed to expand through a porous plug

at temperature above its inversion temperature there is

A. afall in temperature

B. arise in temperature

C. neither a fall nor a rise in temperature

D. a fall in temperature first followed by a rise in temperature

Answer: B

° Watch Video Solution

3. The Joule -Thomson coefficient for a gas is zero at .

A. Inversion temperature

B. Critical temperature

C. Absolute temperature


https://dl.doubtnut.com/l/_k7OtejHl8YZe
https://dl.doubtnut.com/l/_aMz8xvMUyrH0

D.Below 0° C

Answer: A

o Watch Video Solution

4. An ideal gas obeying the kinetic theory of gases can be liquefied if

A. its tempereature is more than critical temperature T
B. its pressure is more than critical pressure Pp
C.its pressure is more than P, at a temperature less than T

D. it cannot be liquified at any value of Pand T

Answer: D

o Watch Video Solution

5. At the critical temperature


https://dl.doubtnut.com/l/_aMz8xvMUyrH0
https://dl.doubtnut.com/l/_I9LFwUcJaSgd
https://dl.doubtnut.com/l/_rMkbfINRnitE

A. liquid and vapour exist in equilibrium

B. vapour state does not exist at all

C. the meniscus between liquid and vapour disappears

D. the vapour condense into solid

Answer: C

° View Text Solution

6. Dominance of strong repulsive forces among the molecules of the

gas (Z = compressibility factor)

A.depends on Z and indicated by Z=1

B. depends on Z and inddicated by Z > 1

C.depends on Z and inddicated by Z < 1

D.is independent of Z


https://dl.doubtnut.com/l/_rMkbfINRnitE
https://dl.doubtnut.com/l/_bE7ropzAvcLb

Answer: B

o Watch Video Solution

7.A gas is liquified

A. above critecal temperature and below critical pressure

B. below critical temperature and above critical pressure

C. below critical tempreature and pressure

D. above critical and pressure

Answer: B

° View Text Solution

8. The compressibility factor for an ideal gas is

A 15


https://dl.doubtnut.com/l/_bE7ropzAvcLb
https://dl.doubtnut.com/l/_y3JH1PyqV3MD
https://dl.doubtnut.com/l/_QaJFwWOC7ppb

B.1.0

C.2.0

Answer: B

° Watch Video Solution

9. The compressibility factor of gases is less than unity at STP.
Therefore,

AV > 22.4litres

B.V < 22.4litres

C. V=224 litres

D. V=448 litres

Answer: B

| o A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_QaJFwWOC7ppb
https://dl.doubtnut.com/l/_1Mc53UxufmGX

— _vvdillll VIUCO o0I1IULiVI] J

10. Dominance of strong repulsive forces among the molecules of the

gas (Z = compressibility factor)

A. depends on Z and indicated by Z=1

B. depends on Z and inddicated by Z > 1

C.depends on Z and inddicated by Z < 1

D. is independent of Z

Answer: B

o Watch Video Solution

11. The temperature at which a real gas obeys the ideal gas laws over a

wide range of pressure is called

A. Critical tempreature


https://dl.doubtnut.com/l/_1Mc53UxufmGX
https://dl.doubtnut.com/l/_TqyTCrSPl6gc
https://dl.doubtnut.com/l/_6UJ5zftZNdAf

B. Boyle temperature

C.Inversion temperature

D. Reduced temperature

Answer: B

° Watch Video Solution

12. The critical temperature of a substance is

A. The temperature above which the substance decomposes

B. The temperature above which a substance can esist only as a gas

C. Melting point of the substance

D. Boiling point of the substance

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6UJ5zftZNdAf
https://dl.doubtnut.com/l/_M3Flt8mOfvLm

13. NHj3 can be liquefied at ordinary temperature without the

application of pressure. But O, cannot be because:

A. Its critical temperature is very high

B. Its critical temperature is low

C. Its critical temperature is moderate

D. Its critical temperature is higher than that of ammonia

Answer: B

o Watch Video Solution

14. At the critical temperature , the substance exists as a

A. Liqued and vapour exist in equilibrium

B. vapour state does not exist at all

C. the meniscus between liquid and vapour disappears


https://dl.doubtnut.com/l/_CVqU9Ewmar3s
https://dl.doubtnut.com/l/_UVSecX1aps8G

D. the vapour condense into solid

Answer: C

o Watch Video Solution

15. The deviation from the ideal gas behaviour of a gas can be

expressed as

anz— L
VRT
gz BV
nRT
C.7 — nRT
VP
VR
D. Z — ﬁ
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UVSecX1aps8G
https://dl.doubtnut.com/l/_vqyk8YWwm15X

16. An ideal gas cannot be liquified because

A. Its critical temperature is always above 0° C
B. Its molecules are relatively smaller in size

C. Its solidifies before becoming a liquid Forces operating between

its molecule are negligible

Answer: D

° Watch Video Solution

17. Which of the following method is used for liquefaction of gases ?

A. Daltons Method
B. Boyle's Method

C.Linde's method



https://dl.doubtnut.com/l/_aD5IXwqjTjWT
https://dl.doubtnut.com/l/_3cGhyA6FdBqw

D. Charle's method

Answer: C

° Watch Video Solution

18. Which set of conditions represent the easiest way to cool a gas ?

A. Low temperature and high pressure

B. High temperature and low pressure

C. Low temperature and low pressure

D. High temperature and high pressure

Answer: A

o Watch Video Solution

19. A gas is liquified


https://dl.doubtnut.com/l/_3cGhyA6FdBqw
https://dl.doubtnut.com/l/_R38KazbPY1v9
https://dl.doubtnut.com/l/_TTz9WlPRVAwE

A. above critecal temperature and below critical pressure

B. below critical temperature and above critical pressure

C. below critical tempreature and pressure

D. Above temperature and pressure

Answer: C

° View Text Solution

20. Liquefaction of gases is based on the principle of

A. Thermodynamics

B. Inductive effect

C.Joule-Thomson effect

D. Hyper conjugation

Answer: C



https://dl.doubtnut.com/l/_TTz9WlPRVAwE
https://dl.doubtnut.com/l/_XFiG4OYqC3BT

[ W Watch Video Solution ]

21. Critical temperature of HyO, NH3, CO5 and O, are 647 K, 405.6 K,
304.10 K and 1542 K respectively. If the cooling starts from 500 K to
their critical temperature, the gas that lilquiefies first is

A.H,O

B. NHj

C.CO,

D. O,

Answer: B

° Watch Video Solution

22. Consider the equation Z = Z—‘; Which of the following

statements is correct?


https://dl.doubtnut.com/l/_XFiG4OYqC3BT
https://dl.doubtnut.com/l/_VECX5QG1BNrM
https://dl.doubtnut.com/l/_DjGfwuTkvm6y

A.When Z > 1real gases are easier to compress than the ideal gas

B. When Z=1 real gases get compressed easily

C.When Z > 1real gases are difficult to compress

D. When Z=1real gases are difficult to compress

Answer: C

° Watch Video Solution

Kinetic Theroy Molecule Speeds

1. When a gas is compressed as constant temperature:

A. the speeds of the molecules increase

B. the collisions between the molecules increase

C. the speeds of the molecules decrease

D. the collisions between the molecules decrease


https://dl.doubtnut.com/l/_DjGfwuTkvm6y
https://dl.doubtnut.com/l/_tKeXphA4da91

Answer: B

° Watch Video Solution

2. According to kinetic theory of gases the root mean square velocity is

directly proportional to

AT
B.T?

C.T

D.1/T

Answer: C

o Watch Video Solution

3. Which one of the following relationship is correct ?


https://dl.doubtnut.com/l/_tKeXphA4da91
https://dl.doubtnut.com/l/_bMgsuBmNkkmg
https://dl.doubtnut.com/l/_JcFjYgd7qdM8

3
A PV = EkT

2
BK.E. = ng

4%

CZ=——
nRT

2
D.(PV) = gk

Answer: D

° Watch Video Solution

4. Which of the following is correct relation for root mean square

velocity ?

8RT
e V=
By _ 3RT
e = T3
2RT
C Urms = A T

3RT

D. Urms — 7


https://dl.doubtnut.com/l/_JcFjYgd7qdM8
https://dl.doubtnut.com/l/_fctvMSvHPUc1

Answer: B

° Watch Video Solution

5. The ratio of root mean square velocity of average velocity of a gas

molecule at a particular temperture is

A.1.086:1

B.1:1.086

C.2:1.086

D.1.086: 2

Answer: A

o Watch Video Solution

6. Which of the following is valid at absolute zero ?


https://dl.doubtnut.com/l/_fctvMSvHPUc1
https://dl.doubtnut.com/l/_RmldNwRpRFqz
https://dl.doubtnut.com/l/_8Hiq9cQVChB7

A. Kinetic energy of the gas becomes zero but not the molecular

motion

B. Kinetic energy of the gas becomes zero and the molecular

motion also becomes zero

C. Kinetic energy of the gas decreases but does not become zero

D. None of these

Answer: B

° Watch Video Solution

7.The rms speed at NTP of a gas can be calculated from the expression:

3P
A\ —
d
B 3PV
' M
c 3RT
' M

D. All of the above


https://dl.doubtnut.com/l/_8Hiq9cQVChB7
https://dl.doubtnut.com/l/_f0N1AnbHqj92

Answer: D

o Watch Video Solution

8.Root mean square velocity of a gas molecule is proprotional to

A.ml/2

Answer: C

° Watch Video Solution

9. The ratio among most probable velocity, mean velocity and root

mean velocity is given by


https://dl.doubtnut.com/l/_f0N1AnbHqj92
https://dl.doubtnut.com/l/_S4n0eyeDj9nq
https://dl.doubtnut.com/l/_1zwODxYTKF5V

Al:2:3
B.1:4/2:/3

cﬂw@¢§;

D.v/2:4/8/7:+/3

Answer: D

° Watch Video Solution

10. If Cq,C5,Cs..... represent the speeds on nq,no, ns.....

molecules, then the root mean square speed is

A 7’L1012 —i—n2C22 +n30’32 + .-

n1+n2+n3+---
(1 C? 4+ nyC2 + ngC2 4 ---)'/?
B.

n1+n2+n3+---

1/2 21/2 21/2
n102 TLQC n;:,C’
e o) )

nq Ty ng

21/2

(n1C1 + n2Cs + n3Cs + - - +)
(n1+n2+n3+---)



https://dl.doubtnut.com/l/_1zwODxYTKF5V
https://dl.doubtnut.com/l/_PC9OS65i65jk

Answer: A

o Watch Video Solution

1. Internal energy and pressure of a gas per unit vloume are related as

AP=—-F

B.P =

| w

CP=—-F

D. P=2E

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PC9OS65i65jk
https://dl.doubtnut.com/l/_lSbBIvgBx21L

12. The root mean square velocity of an ideal gas to constant pressure

varies with density (d) as

A. d?
B.d
C.\/d
D.1/+/d

Answer: A

o Watch Video Solution

13. Collision frequency (Z) of a gas at a particular pressure

A. decreases with the rise in temperature
B. increases with the rise in temperature

C. decrease initially and thereafter increases


https://dl.doubtnut.com/l/_UVS4qnObLUFe
https://dl.doubtnut.com/l/_GAUn5Acx9bVf

D. unpredictable

Answer: B

° Watch Video Solution

14. The integrated form of Clausius-Clapeyron equation is

dln K AH
A =

dT _ RT?
1, Ko AH /1 1
1o = — - —
S0 T 23BR\TY T

b, Hvap ( 1 1 )

C.log, -2 — ==
BUp T 93BR\TT T

D. None of these

Answer: C

o Watch Video Solution

15. The Clausius-Clapeyron equation depics


https://dl.doubtnut.com/l/_GAUn5Acx9bVf
https://dl.doubtnut.com/l/_bvtrArQiWqKM
https://dl.doubtnut.com/l/_nHTA6bqMTaTB

A. the effect of temperature on the vapour pressure of a liquid

B. effect of pressure on the boilling point of a liquid

C. effect of temperature on suface tension of liquid

D. Both (a) and (b)

Answer: D

° Watch Video Solution

16. At what temperature will the rms velocity of SO, be the same as

that of O5at303K?

A 273K

B. 606 K

C.303K

D.403 K


https://dl.doubtnut.com/l/_nHTA6bqMTaTB
https://dl.doubtnut.com/l/_5s9rgtocYnsJ

Answer: B

o Watch Video Solution

17. The root mean square velocity of one mole of a monoatomic gas
having molar mass M is U, ,, s.. The relation between the average

kinetic energy (E ) of the gas and U,,,5is

AUy = %
2F
B.Uims = 3_M
| 2F
C. Urmg — W
E
D. Upms = 3_M
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5s9rgtocYnsJ
https://dl.doubtnut.com/l/_eFiUmwTVL5pa

18. If a gas expands at constant temperature, it indicates that

A. Kinetic energy of the molecules decrease
B. pressure of the gas increases
C. Kinetic energy of the molecules remains the same

D. number of molecules of the gas increases

Answer: C

° Watch Video Solution

Liquid State Vapour Pressure Surface Tension And Viscosity

1. The correct statement regarding liquid state is

A. Aliquid resembles a solid near the melting point of the solid

B. Aliquid resembles a gas near the critical temperature of the gas


https://dl.doubtnut.com/l/_f4N63qgJztRi
https://dl.doubtnut.com/l/_t01iuydqaiTh

C. Aliquid has short range order and long range disorder

D. All of the above

Answer: D

o Watch Video Solution

2. Which one of the following is not correct about boilling and

evaporation ?

A. Evaporation takes place at all temperature whereas boilling takes

place only at one particular temperature

B. Evaporation takes place only from the surface whereas boilling

involves formation of bubbles below the surface

C. Boilling can takes place in closed as well as open vessel whereas

evaporation takes place only in open vessel


https://dl.doubtnut.com/l/_t01iuydqaiTh
https://dl.doubtnut.com/l/_It4A17ccNCw0

D.Boilling point decreases if external pressure is low but

evaporation increases if external pressure is low

Answer: C

o View Text Solution

3. At the higher altitudes the boiling point of water lowers because

A. atmosheric pressure is low

B. temperature is low

C. atmoshperic pressure is high

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_It4A17ccNCw0
https://dl.doubtnut.com/l/_A12yzI5recB8
https://dl.doubtnut.com/l/_SNOtqtuT6qEs

4.Vapour pressure of a liquid depends upon its

A. the amount on the ligiud taken

B. the temperature of ht liquid

C. both on the amount as well as temperature

D. neither the amount nor the temperature but only on the nature

of the liquid

Answer: B

o Watch Video Solution

5. Pressure cooker reduces cooking time because :

A. the heat is more easily distributed

B. the higher pressure tenderizes the food

C. the boiling point of the water inside is elevated


https://dl.doubtnut.com/l/_SNOtqtuT6qEs
https://dl.doubtnut.com/l/_dvWbuufqaFIH

D. a large flame is used

Answer: C

o Watch Video Solution

6. The unit of surface tension in Sl system is

A.dynes em ~*

B. ergs/cm
1

C.joulesm ™

D.Nm !

Answer: D

o Watch Video Solution

7.The ST unit of the coefficent of viscosity is


https://dl.doubtnut.com/l/_dvWbuufqaFIH
https://dl.doubtnut.com/l/_rCNRtxKDwG05
https://dl.doubtnut.com/l/_dJZnUk8c8XiU

Answer: B

o Watch Video Solution

8. With the increasesing molecular weight of a liquid the viscosity

A. decreases

B. increases

C. no effect

D. all are wrong

Answer: B



https://dl.doubtnut.com/l/_dJZnUk8c8XiU
https://dl.doubtnut.com/l/_zOehIs2sjX3z

[ W Watch Video Solution ]

9. What is the dominant intermolecular forces or bond that must be

overcome in converting liquid CH3OH to gas ?

A. Dipole -dipole interaction

B. Covalent bonds

C. London dispersion forces

D. hydrogen bonding

Answer: D

° Watch Video Solution

10. On heating a liquid its surface tension

A. Increases

B. Decreases


https://dl.doubtnut.com/l/_zOehIs2sjX3z
https://dl.doubtnut.com/l/_mUHTQ9QUBGM4
https://dl.doubtnut.com/l/_BzDEBnEIv9oR

C.Remains same

D. Is reduced to zero

Answer: B

o Watch Video Solution

1. The ST unit of the coefficent of viscosity is

Akgs tm 2

B.kgm s !

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BzDEBnEIv9oR
https://dl.doubtnut.com/l/_qFy0dvwk6anK
https://dl.doubtnut.com/l/_BleOsuH8zoqG

12. Which of the following expressions regarding the unit of coefficient

of viscosity is not true?

A.Dynecm ? sec

B. Dyne em?sec™ !
-2
CNm “sec

D.Kgm( —1)s !

Answer: B

° Watch Video Solution

13. Which of the following statements is correct if the intermolecular

forces in liquid A, B and C areintheorder A < B < C?

A. B evaporates more readily than A

B. B evaporates less readily than C

C. A and B evaporate at the same rate


https://dl.doubtnut.com/l/_BleOsuH8zoqG
https://dl.doubtnut.com/l/_KOxoEbhVru1e

D. A evaporates more readily than C

Answer: D

o Watch Video Solution

14. When the temperature is raise, the viscosity of liquid decreases, this

is because,

A. Decreased volume of the solution

B. Increases in temperature increases the average kinetic energy of

molecules which overcome the attractive forces between them

C. Decreased covalent and hydrogen bond forces

D. Increased attraction between the molecules

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KOxoEbhVru1e
https://dl.doubtnut.com/l/_EAefNRQkje19

15. Generally liquid drops assume spherical spape because

A. A sphere has maximum surface area
B. A sphere has minimum surface area
C.Sphere is symmetrical in shape

D. None of these

Answer: B

o Watch Video Solution

16. On heating a liquid its surface tension

A. Increases

B. Decreases

C. Remains same

D. Is reduced to zero


https://dl.doubtnut.com/l/_MbjPNFPfg2wj
https://dl.doubtnut.com/l/_80PFMWVlk1Ky

Answer: B

° Watch Video Solution

17. The internal resistance of a cell is the resistance of

A. Fluidity

B. Specific resistance

C. Viscosity

D. Surface tension

Answer: C

° Watch Video Solution

18. As the temperature rises viscosity of liquids

A. Increase


https://dl.doubtnut.com/l/_80PFMWVlk1Ky
https://dl.doubtnut.com/l/_rRDMz5YiuLlO
https://dl.doubtnut.com/l/_xVSLFdeQbYX3

B. Decreases

C. Remains constant

D. May increases or decreases

Answer: B

° Watch Video Solution

19. Which of the following liquids has the highest viscosity ?

A. Benzene

B. Carbon disulphide

C. Acetone

D. Ethanol

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xVSLFdeQbYX3
https://dl.doubtnut.com/l/_KGMExkmgDkxA

Higher Level

1. Which of the following expression represents correctly the variation

of density of an ideal gas with change in temperature ?

P
Ady = 2200

PTy

d
B.d, — 4L

1>

d
C.dy = 11

Ty

d
D.dy = 1P T

PT

Answer: A

° Watch Video Solution

2. The vapour density of a gas (X) is 11.2. The volume occupied by 11.2 g

of this gas at N.T.P. is

A1lL


https://dl.doubtnut.com/l/_eZUrRHHAlXqE
https://dl.doubtnut.com/l/_TQIOJRmwQCEk

B.1.2L

C.224 L

D.20L

Answer: B

° Watch Video Solution

3. With increase in temperature the difference between rms velocity
and average velocity will

A. increase

B. Decreases

C.remain same

D. decrease becoming almost zero at a high temperature

Answer: A

| o Ar_a_L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_TQIOJRmwQCEk
https://dl.doubtnut.com/l/_zcT6ledw16is

L vvallll viUCO o0IUutLiornl )

4.The average K.E. of an ideal gas is calories per mole is approximately

equal to

A. three times the absolute temperature

B. absolute temperature

C. two times the absolute temperature

D. 1.5 times the absolute temperature

Answer: A

o Watch Video Solution

5. At ST P, the order of mean square velocity of molecules of Hy, Ns,

O,,and HBr is

A . Hy < Ny < Oy < HBr


https://dl.doubtnut.com/l/_zcT6ledw16is
https://dl.doubtnut.com/l/_vBxaa3nTyFQK
https://dl.doubtnut.com/l/_vKWdWVTokG7F

B.HBr < Oy < Ny < H,y

C.H2 < N2 :OQ < HBr

D.HBr < Oy < Hy < H,

Answer: B

° Watch Video Solution

6. If the inversion temperature of a gas is —80° C, then it will produce
cooling under Joule-Thomson effect at

A. 298 K

B.273 K

C.193 K

D.173 K

Answer: D

| o A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_vKWdWVTokG7F
https://dl.doubtnut.com/l/_aM8N5VHQ9U4X

L vvallll viUCO o0IULiornl )

7. A closed vessel contains equal number of nitrogen and oxygen

molecules at pressure of Pmm. If nitrogen is removed from the

system, then the pressure will be:

AP

B.2P

C.P/2

D. P2

Answer: C

o Watch Video Solution

8. In which of the following states of matter the average distance

between the molecules lies between 10 ° cmto 107 cm ?


https://dl.doubtnut.com/l/_aM8N5VHQ9U4X
https://dl.doubtnut.com/l/_LNzVd2NKlP5j
https://dl.doubtnut.com/l/_frI8IfcpYhby

A. Solid

B. Liquid

C. Gas

D. None

Answer: B

° Watch Video Solution

9. Why liquids diffuse slowly as compared to gases?

A. the molecules are held together by strong intermolecular forces

B. the molecular of liquids are heavy

C. liquids have definite shape

D. the molecules of liquids undergo large number of collisions with

the neighbouring molecules


https://dl.doubtnut.com/l/_frI8IfcpYhby
https://dl.doubtnut.com/l/_629RMeKeYDOy

Answer: D

° Watch Video Solution

10. During boiling og a liquid bubbles are formed because

A.the vapour pressure inside the bubbles is equal to the

atmospheric pressure

B. the vapour pressure inside the bubbles is slightly greater than

the atmospheric pressure

C.the vapour pressure inside the bubbles is slightly greater than

the atmospheric pressure

D. the dissolved air gets entrapped which is being expelled

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_629RMeKeYDOy
https://dl.doubtnut.com/l/_FtoWUJwykyAo

11. The heats of vaporization of
H,0, CsH;OHandC Syare 40.6 kJmol ~ 1, 38.6kJmol ~'and26.8kJmol 1
respectively. The strength of intermolecular forces in these liquids is in

the order of

A H,O > 02H5OH > (S,
B.CSQ > CQH5OH > HQO
C.H,O > CS; > C,H;0OH

D.CS, > H,O > CoH;OH

Answer: A

° Watch Video Solution

12. Which one of the following is not correct about liquids ?

A. The intermolecular forces of attraction in a liquid are quite large


https://dl.doubtnut.com/l/_TuC3yvLbB77r
https://dl.doubtnut.com/l/_CGQxyabzBVxq

B. All liquids are accompanied by cooling on evaporation

C. Lower the boiling point of a liquid greater is its vapour pressure

at room temperature

D. A liquid boils at a higher temperature at the top of a mountain

than at the sea level

Answer: D

o Watch Video Solution

13. A closed flask contains water in all its three states solid, liquid and
vapour at 0°C. In this situation, the average kinetic energy of water
molecules will be

A. the greatest in all the three states

B. the greatest in vapour state

C. the greatest in the liquid state


https://dl.doubtnut.com/l/_CGQxyabzBVxq
https://dl.doubtnut.com/l/_HcuULYxzGzSq

D. the greatest in the solid state

Answer: B

° Watch Video Solution

14.The critical temperature of water is higher than that of O, because

the H,O molecule has

A. fewer electrons than O,

B. two covalent bonds

C.V-shape

D. dipole moment

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HcuULYxzGzSq
https://dl.doubtnut.com/l/_JdlpOyzDAsf3

15. The approximate temperature at which 1 mol L~ ! of a sample of
pure ideal gas exhibits a pressure of 101.325 k Pa is

A 122 K

B.122 K

C.244 K

D.300K

Answer: A

o Watch Video Solution

16. If the pressure and absolute temperature of 2 litres of CO, are

doubled the volume of CO, would become

A. 2 litres

B. 4 litres


https://dl.doubtnut.com/l/_QVN8iu3ZjhKY
https://dl.doubtnut.com/l/_LxlaXGtQXvzg

C.5 litres

D. 7 liters

Answer: A

o Watch Video Solution

17. The density of methane at 2.0 atmosphere pressure at 27°C'is

A.013 gL~ 1
B.026g L !
c.130gL!

D.260g L~}

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LxlaXGtQXvzg
https://dl.doubtnut.com/l/_aD5oD0NwPb29
https://dl.doubtnut.com/l/_sbclOrmVJIkG

18. The density of a gas at 27°C and latm is d. Pressure remaining
constant, at which of the following temperture will its density become
0.75d?

A.20° C

B.30° C

C.400 K

D.300K

Answer: C

o Watch Video Solution

19. A vessel is filled with a mixture of oxygen and nitrogen. At what

ratio of partial pressures will the mass of gases be identical?

A.p(O2) =05 p(N)

B.p(Oz) =p(Nz)


https://dl.doubtnut.com/l/_sbclOrmVJIkG
https://dl.doubtnut.com/l/_YAiecAExBa3c

C.p(0,) =114 p(Ip)

D.p(0Os) =0.875 p(Ns)

Answer: D

o Watch Video Solution

20. At constant temperature 200cm?® of N, at 720 mm and 400cm® of
O, at 750 mm presure are put together in a litre flask. The final
pressure of mixture is

A.735mm

B.1470 mm

C. 1095 mm

D.740 mm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YAiecAExBa3c
https://dl.doubtnut.com/l/_LDWUX2Fg4t6A

21. If three unrective gases having partial pressures P Py and P, and

theire moles are 1,2 and 3 respectively then their total pressure will be

AP=Py+ Pg+ P

_ Pa+ Pp+ Po
- 6

_ VPy+Pp+ Fc
- 3

B.P

c.P

D. none

Answer: A

° Watch Video Solution

22.The ratio of rates of diffusion of SO,, O3 and CHj, is

Al:4/2:2

B.1:2:4


https://dl.doubtnut.com/l/_LDWUX2Fg4t6A
https://dl.doubtnut.com/l/_pUGwwU6qxsuO
https://dl.doubtnut.com/l/_E9TK4mmZE1Zw

C.2:4/2:1
D.1:2:4/2

Answer: A

o Watch Video Solution

23. At what temperature is the K. E. Of a gas molecules half that of its

value at 27°C

A.13.5° C

B.150° C

C.75K

D. —123K

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_E9TK4mmZE1Zw
https://dl.doubtnut.com/l/_UPW8Aa18tzsK

24. The rate of diffusion of two gases X and Y is in the ration of 1:5
and that of Y and Z in the ratio of 1: 6. The ratio of the rate of diffusion
of Z with respecte to Xis :

A.5/6

B.1/30

C.6/5

D.30

Answer: D

o Watch Video Solution

25.The density of helium is 0.1782 g per litre at N.T.P. Its density at 27°

C and 740mm Hg will be

0.1782 x 300 x 760
273 x 740

g per litre


https://dl.doubtnut.com/l/_1eg7TTHXgFMj
https://dl.doubtnut.com/l/_ureuWjMQQBJT

0.1782 x 300 x 740
273 x 760

0.1782 x 273 x 740
300 x 740

0.1782 x 273 x 740
300 x 760

g per litre

g per litre

g per litre

Answer: D

o Watch Video Solution

26. When equal weights of O, and N, are placed in separate

contaniners of equal volume at the same temerature which of the

following statement is true ?

A. Both flasks cotain the same number of molecules

B.The pressure in oxygen flask is smaller than the one in the

nitrohgen flask

C. More molecules are present in the oxygen flask


https://dl.doubtnut.com/l/_ureuWjMQQBJT
https://dl.doubtnut.com/l/_La3diO03o7eP

D. Molecules in the nitrogen flask are moving slower on the average

than ones in the oxygen flask

Answer: B

o Watch Video Solution

27.Two flasks X and Y have capacity 1L and 2 L respectively and each of
them contains 1 mole of a gas. The temperature of the flasks are so
adjusted that average speed of molecules in X is twice as those in Y.
The pressure in flask X would be

A.same as that in Y

B. half of that in Y

C.twice of thatinY

D. 8 times of that in Y

Answer: D


https://dl.doubtnut.com/l/_La3diO03o7eP
https://dl.doubtnut.com/l/_cVwxEhqdbla1

° Watch Video Solution

28. To raise the volume of a gas by four times the following methods

may be adopted. Which of the method is wrong ?

A.T is doubled and P is also doubled

B. Keeping P constant T is raised by four times

C. Temperture is double and pressure is halved

D. Keeping temperature constant pressure is reduced to 1/4 of its

initial value

Answer: A

o Watch Video Solution

29. How much should the pressure be increased in order to decrease

the volume of a gas 5% at a constant temprature ?


https://dl.doubtnut.com/l/_cVwxEhqdbla1
https://dl.doubtnut.com/l/_pcRRBmjEN5WQ
https://dl.doubtnut.com/l/_JmsATan4p8vK

A.0.05

B. 0.0526

C.01

D. 0.0426

Answer: B

° Watch Video Solution

30. Reducing the pressure from 1.0 to 0.5 atm would change the

number of molecules in one mole of ammonia to

A. 75% of initial value

B. 50% of initial value

C. 25% of initial value

D. None of these


https://dl.doubtnut.com/l/_JmsATan4p8vK
https://dl.doubtnut.com/l/_obAux2FH4Z4t

Answer: D

o Watch Video Solution

31. In what ratio by mass carbon monoxide and nitrogen should be

mixed so that partial pressure exerted by each gas is same ?

Al:1

B.1:2

C.2:1

D.3:4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_obAux2FH4Z4t
https://dl.doubtnut.com/l/_V1hMIM84Oob0

32. If the four tubes of a car are filled to the same pressure with

N, Oy, Hy, and helium separately , then which one will be filled first ?

A N,

B. O

C. H,

D. Ne

Answer: C

o Watch Video Solution

33. Equal volumes of gases at the same temperature and pressure
contain equal number of particles. This statement is a direct

consequence of

A. Perfect gas law


https://dl.doubtnut.com/l/_zfYhzB5lTbT2
https://dl.doubtnut.com/l/_3HeebeyoNUPg

B. Charles's law

C.Ideal gas equation

D. Partial law of pressure

Answer: C

o Watch Video Solution

34. If the rms speed of gas molecules is zecms ! at a pressure of p
atmospheres, then the rms speed at a pressure of 2p atmospheres

and constant temperature will be

B. 2x
C.4x

D. x/4

Answer: C


https://dl.doubtnut.com/l/_3HeebeyoNUPg
https://dl.doubtnut.com/l/_FZedOH7flTDO

° Watch Video Solution

35. Containers A and B have same, gases. Pressure, volume and
temperature of A are all twice that of B, then the ratio of number of
molecules of A and B are

Al:2

B.2:1

C.1:4

D.4:1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FZedOH7flTDO
https://dl.doubtnut.com/l/_ORfOTJLMMvDF

1.1f 10g of a gas at atmospheric pressue is cooled from 273°C to 0° C,

keeping the volume constant, its pressure would become

A. — atm
2

B. —— atm
273
C.2 atm

D. 273 atm

Answer: A

o Watch Video Solution

2. In case of Boyle's law, if the pressure is increased by 1% the

percentage decrease in volume is

A.0.01

5 100,
"101 "



https://dl.doubtnut.com/l/_yTCqTYyN0kg8
https://dl.doubtnut.com/l/_DP72cNrShB49

1
%

< 100

1
%

> 100

Answer: B

o Watch Video Solution

3. At what temperature in the Celsius scale, V ( volume ) of a certain

mass of a gas at 27° C will be doulbed keeping the pressure constant ?

A.54°

B. 327°

C.427°

D. 527°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DP72cNrShB49
https://dl.doubtnut.com/l/_vxMIVG6W99pf

4. At constant pressure,a gas was compressed to half of its volume at
30° C. To what temperature it should be heated so that its volume
increases to double of its original volume ?

A.60° C

B.303 K

C.240K

D. 606 K

Answer: D

° Watch Video Solution

5. Equal volume of two gases which do not react together are enclosed
in separate vessels. Their pressures are 10mm and 400mm respectively.
If the two vessels are joined together, then what will be the pressure of

the resulting mixture (temperature remaining constant)?


https://dl.doubtnut.com/l/_wOOc9jgfgtwo
https://dl.doubtnut.com/l/_QzJfem58GXoT

A.125 mm

B. 500 mm

C.1000 mm

D. 250 mm

Answer: D

o Watch Video Solution

6.160 mL of a gas are collected over water at 25° C and 768.8 mm Hg

A.760 mm Hg

B.721.2 mm Hg

C. 600 mm Hg

Answer: A



https://dl.doubtnut.com/l/_QzJfem58GXoT
https://dl.doubtnut.com/l/_V3aqaya6FS1V

| @ View Text Solution |

7. Gaseous mixture of contains 56 g of N, , 44g of CO, and 16 g of
CH, . The total pressure of mixture is 720 mm of Hg . The partial
pressure of CHy is :-

A.180 mm

B. 360 mm

C.540 mm

D.720 mm

Answer: A

o Watch Video Solution

8.The Graham's law states that "at constant pressure and temperature

the rate of diffusion or effusion of a gas is inversely proportional to

1
the squar root of its density Rate of diffusion oc —

Jd


https://dl.doubtnut.com/l/_V3aqaya6FS1V
https://dl.doubtnut.com/l/_5DwEof9y8XXi
https://dl.doubtnut.com/l/_0JoezSSOBJCk

If »; and r5 represent the rates of diffusion of two gases and d; and d,

are their respective densities, then

o do

T a dl

L M2 P1

T2 a

Vi X t2 Mo,
Vo X t1 Ml

V &« n (where n is no of moles)
V] «x nyand V5 o ny
If some moles of O, diffuse in 18 sec and same moles of other gas

diffuse in 45 sec then what is the molecular weight of the unknown gas

?.

2
A.4i><32
182
2
B£x32
452
182
45% % 32
457

182 x 32

C.

D.

Answer: B

S |


https://dl.doubtnut.com/l/_0JoezSSOBJCk

| W Watch Video Solution ]

9. The rate of diffusion of oxygen as compared with ozone will be

A. 1.5 times

B.1.22 times

C. 0.66 times

D. 0.82 times

Answer: A

° Watch Video Solution

10. If two gases X and Y have their molecules travelling at the velocities

in the ratio of 3: 1. The ration of their molecular mass M, / M, will be

B.9


https://dl.doubtnut.com/l/_0JoezSSOBJCk
https://dl.doubtnut.com/l/_0nvM1yxMQ9q5
https://dl.doubtnut.com/l/_VJIfj6ZfqSrC

Answer: B

o Watch Video Solution

11. The molecular weight of a gas which diffuses through a porous plug

at 1/6”7’ of the speed of hydrogen under identical condition is:

A. 27
B.72
C.36

D. 48

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VJIfj6ZfqSrC
https://dl.doubtnut.com/l/_Pg4PM122FuF8

12. The density of a gas A is three times that of a gas B. It the molecular

mass of A is M, the molecular mass of B is

A.3M

N @

o

S «l= %

Answer: C

o Watch Video Solution

13. A bottle of cold drink has 200 mL liquid in which CO5 is 0.1 molar. If
CO, behaves as ideal gas the volume of CO, at S.T.P. solution of cold

drink is

A. 0.224 litres


https://dl.doubtnut.com/l/_lAAzFv6PbvbV
https://dl.doubtnut.com/l/_N935odSOA6RH

B. 0.448 litres

C. 224 litres

D. 2.24 litres

Answer: B

o Watch Video Solution

14. One day when the temperature and pressure were 300 K and 760
mm a mass of gas had a volume ofg 1200 c.c. On the next day the
volume had changed to 1218 ¢m® while the pressure was the same .
What was the temperature on the second day ?

A.273°K

B.31.5° K

C.31.5° K

D.300K


https://dl.doubtnut.com/l/_N935odSOA6RH
https://dl.doubtnut.com/l/_ywI6RpdiLSy3

Answer: B

o View Text Solution

15. A pre weighed vessel was filled with oxygen at N.T.P. and weighted.It
was then evacuated, filled with SO, at the same temperature and
pressure, and again weighed. The weight of oxygen will be

A. The same as that of the SO,

B. % that of SO,

C. twice that of SO,

D. one fourth that of SO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ywI6RpdiLSy3
https://dl.doubtnut.com/l/_CQ1DMlmBZPjb

16. One litre of a gas collected at S.T.P. will occupy at 4

atomosphere and 310 K.

A1l x 4 X 310 lit
. 1 573 itres
B 1 1 310 lit
. X 4 X 273 Itres
4 )
C.1x T X 2—73 litres
D.1 x é X E lit
} 1 310 itres
Answer: B

o Watch Video Solution

17. A balloon filled with methane is pricked with a sharp point and
quickly plunged into a tank of hydrogen at the same pressure. After

sometime, the balloon will have

A. Enlarged


https://dl.doubtnut.com/l/_DOKmZXgDtXuz
https://dl.doubtnut.com/l/_nPHfhg8UocHS

B. Collapsed

C. Remained unchanged in size

D. None of the above

Answer: A

o Watch Video Solution

18. A flask containing methane gas was weighed at a measured

temperature and pressure. The flask was emptied and then filled with

oxygen at the same temperature and pressure. The weight of methane

vapour will be about

A. the same as that of oxgen

B. one half as heavy as oxygen

C. one fifth as heavy as oxygen

D. five times as heavy as oxygen


https://dl.doubtnut.com/l/_nPHfhg8UocHS
https://dl.doubtnut.com/l/_ZvZVCeexQIUF

Answer: B

o View Text Solution

19. A weather balloon filled with hydrogen at 1 atm and 300K has
volume equal to 12000 litres. On ascending it reaches a place where
temperature is 250K and pressure is 0.5atm. The volume of the balloon
is:

A. 24000 litres

B. 20000 litres

C. 10000 litres

D. 12000 litres

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvZVCeexQIUF
https://dl.doubtnut.com/l/_wGPrzmjm44LC
https://dl.doubtnut.com/l/_QV0CI0Ue9P6v

20. A discharge tube of volume 30 dm?® was sealed off during an
experiment at a pressure of 8.2 x 10 1% atm .at 27° C. The number of
gas molecules remaining in the sealed tube is

A.6.023 x 10~ %

B.6.023 x 10'®

C.6.023 x 10

D. 6.023 x 10%

Answer: C

° View Text Solution

21. A spherical balloon of 18 cm diameter is to be filled uo with gas at
NTP from a gas cylinder containing the gas at 30 atm. Pressure at 27°
C . If the gas cylinder can hold 3 litres of water the number of balloons

that can be fully filled is


https://dl.doubtnut.com/l/_QV0CI0Ue9P6v
https://dl.doubtnut.com/l/_hKm9z8BHKfGJ

A.400

B. 26

C.100

D. 50

Answer: B

° View Text Solution

22. A cylinder containing cooking gas can withstand a pressure of
15atm. The pressure gauge of the cylinder indicates 12atm at 27°C.
Due to a sudden fire in the building, the temperature starts rising. At
what temperature will the cylinder explode?

A. 1000 K

B.375K

C.550K


https://dl.doubtnut.com/l/_hKm9z8BHKfGJ
https://dl.doubtnut.com/l/_wIUr5qAgJVmk

D. 225K

Answer: B

o Watch Video Solution

23. An open flask contains air at 27° C and one atm. Pressure. The flask
is heated to 127° C at the same pressure . The fraction of original air

remaining in the flask will be

Balw o= o o=

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wIUr5qAgJVmk
https://dl.doubtnut.com/l/_kbfzrlk7Jntz
https://dl.doubtnut.com/l/_0bF34rWF8itE

24. Five grams each of the following gases at 87°C and 750 mm

pressure are taken. Which of them will have the least volume ?

A.HF

B. HCI

C. HBr

D. HI

Answer: D

° Watch Video Solution

25. 10 mL of a gaseous hydrocarbon require 30 mL of oxygen for

complete combustion. The ihydrocarbon is

B. 02H2


https://dl.doubtnut.com/l/_0bF34rWF8itE
https://dl.doubtnut.com/l/_6GdW4nW5SkHi

C. C2H6

Answer: A

° View Text Solution

26. Study the figures below and identify the type of interaction

between XY-XY molecules.

& 5 &+ 8- o+ -

SEDRADRAD
. ~——

A. Dipole-Induced dipole

B. Dipole-Dipole

C. Dispersion forces

D. Induced dipole-Induced dipole


https://dl.doubtnut.com/l/_6GdW4nW5SkHi
https://dl.doubtnut.com/l/_l48MkK05KFNq

Answer: B

o Watch Video Solution

27. What is the relationship between thermal energy and
intermolecular interaction energy of a substance in three states in

terms of X and Y?

Solid — Liquid — Gas

Predominance of Y

h 4

Predominance of X

N

A. X-thermal energy, Y-intermolecular interactios

B. X-thermal energy, Y-thermal energy

C. X-intermolecular interactions ,Y -thermal energy

D. X-intermolecular interations , Y- intermolecular interactions

Answer: C



https://dl.doubtnut.com/l/_l48MkK05KFNq
https://dl.doubtnut.com/l/_eetwsx5MedKc

| ° View Text Solution

28. Atmospheric pressure recorded in different cities are as follows :

Cities | Shimla | Bhopal | Agra |Chennai
p (in N/m?) [1.01 x 10%[1.2 x 10° [1.02 x 10°[1.21 x 10°

Consider the

above data and mark the place at which liquid will boil first.

A. Shimla

B. Bhopal

C.Agra

D. Chennai

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_eetwsx5MedKc
https://dl.doubtnut.com/l/_UvgJ4WBApn6O

29. The drain cleaner Drainex contains small bits of aluminium which
react with caustic soda to produce hydrogen What volume of hydrogen

at 20° C aand one bar will be released when 0.15g of aluminium reacts

?.
A. 204 mL
B. 200 mL
C.203 mL
D. 400 mL
Answer: C

° Watch Video Solution

30. For a real gas the compressibility factor Z has different values at
different temperatures and pressure. Which of the following is not

correct under the given conditions ?


https://dl.doubtnut.com/l/_DWfvNxQ8mcT9
https://dl.doubtnut.com/l/_jgWn51zgdun3

A.Z < 1 at very low pressure

B.Z > 1 at high pressure

C.Z=1 under all conditions

D. Z=1 at intermediate pressure

Answer: C

° Watch Video Solution

31. Study the following graph and mark the incorrect statement

following it.

=%

L

A. At zero volume all lines meet at —273.15° C. This temperature is

known as absolute zero.

B. Each line of the volume vs temperature at constant pressure of

graph is called isotherm


https://dl.doubtnut.com/l/_jgWn51zgdun3
https://dl.doubtnut.com/l/_woUDibHFBQ35

C.All gases obey charles 'law at very low pressure and high

temperature

D. pressure remaining constant volume of a gas at is directlu

proportional to its absolute temperature

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_woUDibHFBQ35

32. Which curve (in figure ) represents the curve of ideal gas ?
A F g
D
C
T B
A

PV

A.B only

B.Cand D

C.EandF

D.Aand B

Answer: A



https://dl.doubtnut.com/l/_CrHesO6qn3QB

| ° View Text Solution

33. Match the column | with column Il and mark the appropriatre

choice.

Column I Column I1

(4) P= Py * Pyt Pyt (i) Bovle's law
(B) P,\, =PV, =PV, | (i) Ideal gasequation
= .. (iii) Dalton's law of

(C) (V-Db) [P * ’52"} partial pressure
=RT (iv) Equation for real
(D) PV=nRT gases

A (A) — (i),(B) — (ii),(C) — (iv),(D) — (iii)

B.(A) — (iii),(B) — (i),(C) — (iv),(D) — (i)

C.(A) — (ii),(B) — (iii),(C) — (i),(D) — (iv)

D.(A) — (iv),(B) — (ii),(C) — (iii),(D) — (i)

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_CrHesO6qn3QB
https://dl.doubtnut.com/l/_nUiSpFyMCY4s

34.The molecules of a gas are in constant (i) motion . They move
in (i) lines until they collide with another molecule . The
collisions are perfectly (iii) _ in nature . A real gas behaves as an
ideal gas at (iv)

temperature and (v) pressure .

A.random vertical straight high low

B. straight random elastic low high

C.random straight elastic high low

D. ideal round elastic low high

Answer: C

° Watch Video Solution

35. A graph between vapour pressure and temperature of few liquids is

given below. Study the graph and answer the following question.


https://dl.doubtnut.com/l/_nUiSpFyMCY4s
https://dl.doubtnut.com/l/_GNKK7nQpdHnw
https://dl.doubtnut.com/l/_sgQNGHp2uQlb

8()(]-: ___________________________________________________
700+
600+
5001
1001
3001
2001

1001

0 ' + ¢
773 203 313 333 353 373

T(K) —>

VP (mmofllg) —>

v

b
) ]

Which of the
following statements is not true ?

A. Boiling point of a liquid is the temperature at which its vapour
pressure becomes equal to atmospheric pressure

B.Boiling point of water can be increased by increasing the
pressure above the atmospheric pressure

C.If liquid B is heated in a closed vessel it will boil at 353 K

D.Liquid C has higher boiling point then B due to higher

intermolecular forces


https://dl.doubtnut.com/l/_sgQNGHp2uQlb

Answer: C

° View Text Solution

36. Assertion : At high altitudes liquids boil at lower temperaturers in

comparison to that of sea level.

Reason : At high altitudes atmospheric pressure is low

A. Both assertion and reason are true and reason is the correct

explanation of assertion

B. Both assertion and reason are true and reason is not the correct

explanation of assertion

C. Assertion is true but reason is false

D. Both assertion and reason are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sgQNGHp2uQlb
https://dl.doubtnut.com/l/_QySyfSE6IusH

37. Assertion : Viscosity of liquids decreases as the temperature rises.

Reason : At high temperature molecules have high kinetic energy and

can overcome the intermolecular forces to flow faster.

A. Both assertion and reason are true and reason is the correct

explanation of assertion

B. Both assertion and reason are true and reason is not the correct

explanation of assertion

C. Assertion is true but reason is false

D. Both assertion and reason are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QySyfSE6IusH
https://dl.doubtnut.com/l/_3Rs3ScNKEk8H

38. A graph is plotted between pressure and volume at different
temperature. On the basis of the graph what changes will you observe
in the volume if

(i) the pressure is increased at constant temperature

(i) the temperature is decreased at constant pressure

P 150 K
100 K

VYV —

A. volume increases in both the cases
B. volume decreases in both the cases
C.volume increases in (i) and decreases in (ii)

D. volume decreases in (i) and increases in (ii)


https://dl.doubtnut.com/l/_PpFjCepnU6fb

Answer: B

° Watch Video Solution

39. Two atoms X and Y are non-polar and electrically symmetrical. What
type of intermolecular forces of attraction can be developed between

them?

&2

A. Dipole -induced dipole forces

B. London forces or dispersion forces

C. Dipole -dipole forces

D. No forces of any kind

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_PpFjCepnU6fb
https://dl.doubtnut.com/l/_UxeIBGo6oMW4
https://dl.doubtnut.com/l/_zZtsDUZpGwvU

40. A container of 1L capacity contains a mixture of 4 g of Oy and 2 g

H, at 0.° C . What will be the total pressure of the mixture ?

A.50.42 atm

B. 25.21 atm

C.15.2 atm

D.12.5 atm

Answer: B

o Watch Video Solution

41.1deal gas equation is also called equation of states bacause

A. it depends on states of matter

B. it is a relation between four variables and describes the state of

any gas


https://dl.doubtnut.com/l/_zZtsDUZpGwvU
https://dl.doubtnut.com/l/_soaJdhvcmHPs

C.it is combination of various gas laws and any variable can be

calculated

D. it is applicable to ony ideal gases under STP conditions

Answer: B

o Watch Video Solution

42.If average velocity of a sample of gas molecules at 300 K is 5ems ~!

, what is RMS velocity of sample of gas molecules at the same
temperature ? (Given ,a:u:v = 1:1.224:1.127)

A.6112cm /s

B.4.605 cm /s

C.4.085cm /s

D.5.430 cm/s

Answer: D


https://dl.doubtnut.com/l/_soaJdhvcmHPs
https://dl.doubtnut.com/l/_hCxbII6jfkEq

o Watch Video Solution

43. A gases mixture contains oxygen and nitrogen in the ratio 1:4 by
weight. Therefore, the ratio of the number of molecules is:

Al:8

B.3:16

C.1:4

D.7:32

Answer: D

o Watch Video Solution

Test Your Grasp



https://dl.doubtnut.com/l/_hCxbII6jfkEq
https://dl.doubtnut.com/l/_Gt9zbqoP77ev

1. Which of the following statements is not correct about the three

states of matter, i.e, solid, liquids and gas?

A. Molecules of a solid possess least kinetic energy whereas those

of a gases possess highest kinetic energy

B. The density of solid is highest whereas theat of gases is lowest

C. Gases like liquids possess definite volumes

D. Molecules of a solid possess vibratory motion

Answer: C

° Watch Video Solution

2. If V, is the volume of a given mass of gas at 273K at a constant

pressure then according to Charles' law, the volume at 10° C will be



https://dl.doubtnut.com/l/_Zr9DE1qMwUD2
https://dl.doubtnut.com/l/_fnQrTJSFX5FR

Answer: D

° Watch Video Solution

3.In a closed vessel of 5 litres capacity, 1 g of O, is heated from 300 to

600K. Which statement is not correct ?

A. Pressure of the gas increases

B. The rate of collision increases

C. The number of moles of gas increases

D. The energy of gaseous molecules increases


https://dl.doubtnut.com/l/_fnQrTJSFX5FR
https://dl.doubtnut.com/l/_fbcnx6u8oU6P

Answer: C

o Watch Video Solution

4. Which of the following is not a correct postulate of kinetic theory of

gases?

A.The molecules of a gas are continuosly moving in different

directions with different velocities

B.The average kinetic energy of the gas molecules is directly

proportional to the absolute temperature of the gas

C. The volume of the gas is due to hitting on the molecules on the

walls of the container

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fbcnx6u8oU6P
https://dl.doubtnut.com/l/_GJuJNnNTEYkd

5. The most probable velocity is expressed as
8RT

A. I

B2RT
M

9RT \ /2
. (_M )

3RT \'/?
D. (_M )

Answer: C

o Watch Video Solution

6. A cylinder is filled with a gaseous mixture containing equal masses of

CO and Ns. The partial pressure ratio is:

A. Py, = Pco

B. Pco = 0.875Py,


https://dl.doubtnut.com/l/_GJuJNnNTEYkd
https://dl.doubtnut.com/l/_IWI7cPIvhVG1
https://dl.doubtnut.com/l/_viQX1NS9Iyaj

C. Pco = 2Py,

D. Poo = 1/2Py,

Answer: A

o Watch Video Solution

7.Triple Point

A.0°C,1atm

B.2°,4.7 atm

C.0° C,4.7 mm

D.—2°C, 4.7Tmm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_viQX1NS9Iyaj
https://dl.doubtnut.com/l/_5SuF6saaZxMV
https://dl.doubtnut.com/l/_dcQ0EF8Y1X3L

8. A helium atom is two times heavier than a hydrogen molecule. At

298K, the average kinetic energy of a helium atom is

A. two times that of a hydrogen molecule
B. same as that of a hydrogen molecule
C. four times that of a hydrogen molecule

D. half that of a hydrogen molecule

Answer: B

° Watch Video Solution

9.1f 20cm”® gas at latm is expanded to 50cm? at constant T, then what

is the final pressure

A. 20 -
.20 X —
50

B. 50 -
.50 X —
20

1
C1X2—0X50


https://dl.doubtnut.com/l/_dcQ0EF8Y1X3L
https://dl.doubtnut.com/l/_ETGwdz3SLXjL

D. none of these

Answer: A

o Watch Video Solution

10. A flask containing air (open to the atmosphere) is heated from 300
K to 500 K. The preccentage of air escaped to the atmosphere is
A. A flask containing air (open to atmosphere ) is heated from 300 K
to 500 K. The percentage of air escaped to the atmosphere is
nearly
B.16.6
C.40

D. 60

Answer: B

| ° A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_ETGwdz3SLXjL
https://dl.doubtnut.com/l/_7nVhkkhBMFne

— _vvdillll VIUCU o0I1ULiVI] J

11. When the temperature is raise, the viscosity of liquid decreases, this

is because,

A. Decreased volume of the solution

B. Increases in temperature increases the average kinetic energy of

molecules which overcome the attractive forces between them

C. Decreased covalent and hydrogen bond forces

D. Increased attraction between the molecules

Answer: B

o Watch Video Solution

12. If the rms speed of gas molecules is zcms ! at a pressure of p
atmospheres, then the rms speed at a pressure of 2p atmospheres

and constant temperature will be


https://dl.doubtnut.com/l/_7nVhkkhBMFne
https://dl.doubtnut.com/l/_d0QTg6sv7Xls
https://dl.doubtnut.com/l/_cdPvj0JUub7B

Answer: C

° Watch Video Solution

13. Which factor is most responsible for the increase in boiling points

of noble gases from He to Xe?

A. Decrease in I.E.

B. Monoatomic nature

C. Monoatomic in polarisability

D. Increases in polarisability


https://dl.doubtnut.com/l/_cdPvj0JUub7B
https://dl.doubtnut.com/l/_86MI7u6oYNqM

Answer: D

° Watch Video Solution

14. At of the following does not showexpliently the relationship

between Boyle's law and Charles'law?

b
P Ts
B. PV=K
P
P _h
P Vs
Vs P, T
D.— = — X —
%1 P, Ty
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_86MI7u6oYNqM
https://dl.doubtnut.com/l/_tZLFUKEAZBtu

15. o, v and u represent most probable velocity, average velocity and
root mean square velocity of a gas at a particular temperature.Which
one of the following relationship is correct?

Aa>u>v

Bu>a>wv

Cv>u>a

D.u >v >«

Answer: D

° Watch Video Solution

16. Which of the following gases will have the highest RM S velocity at

25°C?

A. Oxygen


https://dl.doubtnut.com/l/_bQe3OgwSItn6
https://dl.doubtnut.com/l/_FRX8f2I8unGZ

B. Carbon dioxide

C. Sulphur dioxide

D. Carbon monoxide

Answer: D

° Watch Video Solution

17. The temperature at which a real gas obeys the ideal gas laws over a

wide range of pressure is called

A. Critical tempreature

B. Boyle temperature

C.Inversion temperature

D. Reduced temperature

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_FRX8f2I8unGZ
https://dl.doubtnut.com/l/_4wmQyzKWJJCR

18. A liquid can exist only

A. Between triple point and critical temperature

B. at any temperature above the melting point

C. between melting point and critical temperature

D. between boiling and melting temperature

Answer: D

° Watch Video Solution

19. With rise in temperature, viscosity of a liquid

A. increases

B. decreases

C. remains constant


https://dl.doubtnut.com/l/_4wmQyzKWJJCR
https://dl.doubtnut.com/l/_YUi0vzpDdwT5
https://dl.doubtnut.com/l/_fqbpirEBXoQ6

D. May increases or decreases

Answer: B

o Watch Video Solution

20. The surface tension of water of 20° is 72.75 dyne ¢m ! . Its value in

Sl system is

A.2275 Nm !
B.0.7275 Nm !
C.0.07275 Nm !

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fqbpirEBXoQ6
https://dl.doubtnut.com/l/_sqZVw7bcIKz1

21. 8.2 L of an ideal weight 9.0 g at 300 K and 1 atm. pressure. The

molecular mass of gas is

A.9

B. 27

C.54

D. 81

Answer: B

o Watch Video Solution

22. How many moles of He gas occupy 224 litres at 30°C and one

atmospheric pressure

A.0.9

B. 11


https://dl.doubtnut.com/l/_yhLHn1KyBncv
https://dl.doubtnut.com/l/_YMhB6FhHKncj

con

D.1

Answer: A

o Watch Video Solution

23. The temperature of the gas is raised from 27° C to 927° C, the root

mean square velocity is

A. /927 /27 times the earlier value

B. same as before
C. halved

D. doubled

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YMhB6FhHKncj
https://dl.doubtnut.com/l/_myuIGKCo6V8y

24. There is 10 litre of a gas at STP Which of the following new

conditions keep the volume constant?

A. 273 K and 2 atm. Pressure

B.273°C and 2 atm. Pressure

C.546° C and 0.5 atm pressure

D.0° C and 0.0 atm. Pressure

Answer: B

o Watch Video Solution

25. According to kinetic theory of gases, for a diatomic molecule

A.the pressure exerted by the gas is proportional to the mean

velocity of the molecules


https://dl.doubtnut.com/l/_4qcT67DBJeyo
https://dl.doubtnut.com/l/_LZo7Y4GHzay1

B. the pressure exerted by the gas is proportional to the root mean

square velocity of the molecules

C.the root mean square velocity is inversely porportional to the

temperature

D.the mean translational kinetic energy of the molecules is

proportional to the absolute temperature

Answer: D

° Watch Video Solution

26. The molecular velocities of two gases at same temperature are uy
and wus, their masses are m; and my respectively, which of the

following expression is correct ?


https://dl.doubtnut.com/l/_LZo7Y4GHzay1
https://dl.doubtnut.com/l/_XOxO86sVYwyi

mq m2
c— =

u u2

2 _ 2
D. myju; = mauj

Answer: D

o Watch Video Solution

%
27. A gas is said to behave like an ideal gas when the relation pT=

constant. When do you expect a real gas to behave like an ideal gas ?

° Watch Video Solution

28. A sealed tube which can withstand a pressure of 3 atmosphere is
filled with air at 27°C and 760 mm pressure. Find the temperature
above which it will burst.

A.900° C

B.627° C


https://dl.doubtnut.com/l/_XOxO86sVYwyi
https://dl.doubtnut.com/l/_8UlUPtmu0mNo
https://dl.doubtnut.com/l/_h5L265o2twzU

C.81° C

D.1173° C

Answer: B

o Watch Video Solution

1

29. Four molecules of a gas have speeds of 1, 2, 3, 4cms ™~ respectively.

The root mean square velocity is

A 7.5
B. /30
C.30

D.0.15

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_h5L265o2twzU
https://dl.doubtnut.com/l/_Wk14Enghyltc

30. Which of the following is correct ?

A. At altitudes the pressure of air is low
B. At altitudes density of air is low
C. At altitudes cooking takes place slower

D. At altitudes water will boil at a temperature less than 100° C

Answer: C

o Watch Video Solution

31.1° Crise in temperature is equal to a rise of

A1°F
B.9/5°F
C.5/9°F

D.33° F


https://dl.doubtnut.com/l/_49Ql7qYFj5ix
https://dl.doubtnut.com/l/_Yh75sqhJjc65

Answer: B

o Watch Video Solution

32. The mountaineers carry oxygen gas cylinders with them while

climbing high mountains . Give reasons.

A. Density of air is high at the altitudes

B. Density of air is low at the altitudes

C. Air is less pure at the altitudes

D. Air contains no oxygen at the altitudes

Answer: B

° Watch Video Solution

33.The compressibility factor for an ideal gas is .


https://dl.doubtnut.com/l/_Yh75sqhJjc65
https://dl.doubtnut.com/l/_J3x8TyuZucL5
https://dl.doubtnut.com/l/_TdUEdYF0KJ7X

A 15

B.1.0

C.2.0

Answer: B

° Watch Video Solution

34.The critical temperature of a substance is defined as

A. The temperature above which the substance decomposes

B. the temperature above which a substance can exist only as a gas

C. Melting point of the substance

D. Boiling point of the substance

Answer: B



https://dl.doubtnut.com/l/_TdUEdYF0KJ7X
https://dl.doubtnut.com/l/_LVyAo6Yh55td

[ W Watch Video Solution ]

35. The behaviour of temporary gases like CO, appoaches that a

permanent gases like Ny, O,, etc. as we go

A. below critical temperature

B. above critical temperature

C. above absolute zero

D. below absolute zero

Answer: B

° View Text Solution

36. An ideal gas cannot be liquified because

A. Its critical temperature is always above 0° C

B. Its molecules are relatively smaller in size


https://dl.doubtnut.com/l/_LVyAo6Yh55td
https://dl.doubtnut.com/l/_Vm8UxRsM9d84
https://dl.doubtnut.com/l/_MggqdZRaeJEw

C. it solidifies before becoming a liquid

D. force operative between its molecules are negligible

Answer: D

o Watch Video Solution

37. The relationship between Pg, Vs and T is

A PoVo = RT
B. PcVe = 3RT¢
3
C.P Vo = ERTC
3
D. PV = gRTC'
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MggqdZRaeJEw
https://dl.doubtnut.com/l/_0HTMiN8J14yX
https://dl.doubtnut.com/l/_ZjQqzBmdvDKY

38.0n heating a liquid its surface tension

A. increases

B. decreases

C.remans same

D. Is reduced to zero

Answer: B

o Watch Video Solution

39. At what temperature will both the Celsius and Fahrenheit scales

read the same value?

A.0°C

B.32° F

C.—40° C

D.40° C


https://dl.doubtnut.com/l/_ZjQqzBmdvDKY
https://dl.doubtnut.com/l/_1d9dVJQIOxqI

Answer: C

o Watch Video Solution

40. Which of the following statements is correct about a liquid at
constant temperature before equilibrium is attained ?
A.Rate of evaporation (R,.) decreases with time whereas rata of
condesation (R,) increases with time
B. R, increases with time where R, increases with time
C. R, remains constant whereas R, increases with time

D. R, remains constant whereas R, decreases with time

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_1d9dVJQIOxqI
https://dl.doubtnut.com/l/_ScD1Yox0xaNh

41.If a gas expands at constant temperature

A. the pressure increases

B. the K.E. of the molecules remains the same

C. the KE. of the molecules decreases

D. the number of molecules of gas decreases

Answer: B::C

o Watch Video Solution

42.The equation representing Gay - Lussac 's law is

A.P1XT2:P2XT1

B.Vi xTy = Vo x T

C.PIXTIZPQXTQ

D.PIXd2:P2><d1


https://dl.doubtnut.com/l/_98bp6A16B3gh
https://dl.doubtnut.com/l/_4H41JBogDlRA

Answer: A

° Watch Video Solution

43.The strength of dispersion forces does not increases with increases

in

A. size of molecules

B. molar mass

C. no. of protons

D. no. of neutrons

Answer: D

o Watch Video Solution

44. Which of the following is applications of surface tension ?


https://dl.doubtnut.com/l/_4H41JBogDlRA
https://dl.doubtnut.com/l/_HCLRM5obcz5w
https://dl.doubtnut.com/l/_8QBKYOAy0pOO

A. Capillary action

B. Cleansing action of soap

C. Spherical shape of liquid drop

D. All of these

Answer: D

° Watch Video Solution

45. Dipole moment is defined as the product of charge and the

A. distance between the charges

B. square of distantce between the charges

C.square root of distance between the charges

D. half of the distance between the charges

Answer: A



https://dl.doubtnut.com/l/_8QBKYOAy0pOO
https://dl.doubtnut.com/l/_MMHp1pWSpIFP

[ W Watch Video Solution ]

46. modified Linde process such that the cooling becomes more

efficient.

A. Claude

B. Joule

C.Thomson

D. Boyle

Answer: A

o View Text Solution

47. Liquds which are more volatile have forces of attraction.

A. strong intramolecular

B. weak intramolecular


https://dl.doubtnut.com/l/_MMHp1pWSpIFP
https://dl.doubtnut.com/l/_AnvDhvVvI7xo
https://dl.doubtnut.com/l/_DNy5DXBq5x8G

C. weak intermolecular

D. strong inermolecular

Answer: C

o Watch Video Solution

48. Which of the following value of R is not correct ?

A.8314).K ;. Mol !
B.0.0821L.Atm.K 'mol !
C.1987 cal . K ~'.mol !

D.0.239cal . K . mol !

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DNy5DXBq5x8G
https://dl.doubtnut.com/l/_0sObJrqwAK5W
https://dl.doubtnut.com/l/_22grzZITf105

49. S| unit of pressure is

A.Nm

B. Nm !

C. Nm2

D.mN 2

Answer: C

o Watch Video Solution

50. Hydrogen bonding is a particularly strong type of ..... interaction

A.dipole - dipole
B. dipole - induced dipole
C.ion-dipole

D. ion-ion


https://dl.doubtnut.com/l/_22grzZITf105
https://dl.doubtnut.com/l/_6luQ9bxdzrqd

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6luQ9bxdzrqd

